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GROUP—A / ®¡àK—A

BOTANY / l¡ü[Š±ƒ[¤ƒ¸à

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

1. ÎàìºàA¡Î}ìÅÃìÈ¹ \>¸ ëA¡à>[i¡ Î[k¡A¡?

(A) CO2 &¤} \º l¡ü®¡ìÚ¹Òü [¤\à¹o 

(B) CO2 &¤} \º l¡ü®¡ìÚ¹Òü \à¹o

(C) CO2-&¹ [¤\à¹o &¤} \ìº¹ \à¹o

(D) CO2-&¹ \à¹o &¤} \ìº¹ [¤\à¹o

2. ëyû¡¤Î W¡ìyû¡, "¸à[Îi¡àÒüº CoA "Gàìºà-
"¸àìÎ[i¡A¡ "¸à[Îìl¡¹ Îàì= ™åv¡û¡ ÒìÚ ít¡[¹ A¡ì¹

(A) ó¡¹³àº[l¡ÒàÒül¡

(B) ÎàÒü[i¡öA¡ "¸à[Îl¡

(C) [ó¡l¡ü³à[¹A¡ "¸à[Îl¡

(D) "àÒüìÎàÎàÒü[i¡öA¡ "¸à[Îl¡

3. ÅA¢¡¹à [A¡¹ê¡ìš ëóÃ¡àìÚ³ A¡ºà [ƒìÚ ¤à[Òt¡ ÒÚ?

(A) NÃåìA¡à\

(B) óøå¡A¡ìi¡à\

(C) Îåìyû¡à\

(D) Ð¡àW¢¡

4. [>³—[º[Jt¡ ëA¡à>[i¡ ëA¡àìÅ¹ "àAõ¡[t¡ ¤\àÚ ¹àJìt¡ 
ÎàÒà™¸ A¡ì¹?

(A) "[®¡Ñ÷¤o W¡àš

(B) ¹ÎÑ£¡ã[t¡ W¡àš

(C) šøàW¡ã¹ W¡àš

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

/4 2

Direction : Answer the following questions

by selecting the correct option.

1. Which one is true for

photosynthesis?

(A) Reduction of both CO2 and

water

(B) Oxidation of both CO2 and

water

(C) Reduction of CO2 and oxidation

of water

(D) Oxidation of CO2 and reduction

of water

2. In Krebs’ cycle, acetyl CoA binds to

oxaloacetic acid to form

(A) formaldehyde

(B) citric acid

(C) fumaric acid

(D) isocitric acid

3. The form of sugar transported

through phloem is

(A) glucose

(B) fructose

(C) sucrose

(D) starch

4. Which of the following maintains the 

shape of the cell?

(A) Osmotic pressure

(B) Turgor pressure

(C) Wall pressure

(D) None of the above



5. ó¡ìi¡à[ÎìÐ¡³–I & šø=³ ÒüìºA¡i¡ö> ¤àÒA¡ Òº

(A) ëó¡[¹l¡[G>

(B) ÎàÒüìi¡àìyû¡à³

(C) šÃàìÐ¡àAå¡Òüì>à>

(D) &A¡[i¡ ëºïÒ-KÞê¡A¡ ëšøà[i¡>

6. "[t¡Îà¹A¡ ‰¤o ‡à¹à š[¹¤õt¡ ëA¡àìÅ ëA¡àÅšƒ¢à * 
ëA¡àÅšøàW¡ãì¹¹ ³‹¸¤t¢¡ã Ñ‚àì> =àìA¡

(A) Î³Îà¹A¡ ‰¤o

(B) ºQåÎà¹A¡ ‰¤o

(C) "[t¡Îà¹A¡ ‰¤o

(D) \º

7. C4 l¡ü[Š±ìƒ Jàƒ¸ Î}ìÅÃ[Èt¡ ÒÚ

(A) ¹Û¡ã ëA¡àìÅ

(B) Ñšgã š¸àì¹>A¡àÒü³à ëA¡àìÅ

(C) š¸à[ºìÎl¡ š¸àì¹>A¡àÒü³à ëA¡àìÅ

(D) ¤à[r¡º Åã= ëA¡àìÅ

8. ³à[i¡ ë=ìA¡ \àÒüìºì³ \º š[¹¤Òì>¹ K[t¡š=
Òº

(A) ³à[i¡ ® ³èºì¹à³ ® ¤[Ò@Ñz¹ ® š[¹W¡yû¡  
® "”z@ÑzA¡ ë³i¡à\àÒüìº³ ®
ëšøàìi¡à\àÒüìº³
                            

(B) ³à[i¡ ® ³èºì¹à³ ® ¤[Ò@Ñz¹ ®
"”z@ÑzA¡ ® š[¹W¡yû¡ ® ëšøàìi¡à\àÒüìº³
                             ® ë³i¡à\àÒüìº³

(C) ³à[i¡ ® ³èºì¹à³ ® &[šl¡à¹[³Î ®
¤[Ò@Ñz¹¡ ® ëóÃ¡àìÚ³ ® \àÒüìº³

(D) ³à[i¡ ® ³èºì¹à³ ® ¤[Ò@Ñz¹ ®
ëšøàìi¡à\àÒüìº³¡ ® ëóÃ¡àìÚ³ ®
ë³i¡à\àÒüìº³
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5. In photosystem–I, the first electron

carrier is

(A) ferredoxin

(B) cytochrome

(C) plastoquinone

(D) an iron-sulphur protein

6. The space between plasma

membrane and cell wall surrounded

by a hypertonic solution is occupied

by the

(A) isotonic solution

(B) hypotonic solution

(C) hypertonic solution

(D) water

7. In C4 plants, food is synthesized in

(A) guard cells

(B) spongy parenchyma cells

(C) palisade parenchyma cells

(D) bundle sheath cells

8. The path of water movement from

soil to xylem is

(A) soil ® root hair ® cortex ®

pericycle  ®  endodermis ®

metaxylem ® protoxylem

(B) soil ® root hair ® cortex ®

endodermis ® pericycle ®

protoxylem ® metaxylem

(C) soil ® root hair ® epidermis ®

cortex ® phloem® xylem 

(D) soil ® root hair ® cortex ®

protoxylem ® phloem ®

metaxylem



9. ºàÒüìA¡ì>¹ áyàA¡ "}ÅìA¡ ¤ìº

(A) ó¡àÒüìA¡à¤àìÚà–i¡

(B) ³àÒüìA¡à¤àìÚà–i¡

(C) ëšøàìi¡à¤àìÚà–i¡

(D) ó¡àÒüìA¡à-³àÒüìA¡à¤àìÚà–i¡

10. Î¤å\ l¡ü[Š±ìƒ¹ š¤¢³‹¸ "e¡ìº ëA¡àìÅ¹ ƒãQ¢ãA¡¹o
Qìi¡ ™à¹ šø®¡àì¤ ëÎ[i¡ Òº

(A) Òüìr¡àº "¸àìÎ[i¡A¡ "¸à[Îl¡

(B) ÎàÒüìi¡àA¡àÒü[>>

(C) [\ì¤kì¹[º>¡

(D) Òü[=[º>

11. Ñ¬o¢ºt¡à (Cuscuta) Òº &A¡[i¡

(A) Î´šèo¢ ³èº š¹\ã¤ã

(B) "à}[ÅA¡ ³èº š¹\ã¤ã

(C) Î´šèo¢ A¡àr¡ š¹\ã¤ã

(D) "à}[ÅA¡ A¡àr¡ š¹\ã¤ã

12. [ÎìÐ¡à[º= Òº

(A) A¡¸àº[ÎÚà³ "Gàìºìi¡¹ ëA¡ºàÎ

(B) ³¸àKì>[ÅÚà³ A¡à¤¢ì>ìi¡¹ ëA¡ºàÎ

(C) A¡¸àº[ÎÚà³ A¡à¤¢ì>ìi¡¹ ëA¡ºàÎ

(D) ³¸àKì>[ÅÚà³ "Gàìºìi¡¹ ëA¡ºàÎ

13. ÎàÒüìi¡àšÃà\³ãÚ A¡S¡àº K[k¡t¡ ÒÚ

(A) A¡¸àº[ÎÚà³ A¡à¤¢ì>i¡ ƒà>à ‡à¹à

(B) Î[e¡t¡ A¡¸àìºà\ ‡à¹à

(C) ëÎºåìºà\™åv¡û¡ "oå>à[ºA¡à ‡à¹à

(D) ëšøà[i¡> [>[³¢t¡ "oå>à[ºA¡à ‡à¹à
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9. The fungal part of lichen is called

(A) phycobiont

(B) mycobiont

(C) protobiont

(D) phyco-mycobiont

10. Cell elongation in the internodal

region of green plant takes place

under the influence of

(A) indole acetic acid

(B) cytokinin

(C) gibberellin

(D) ethylene

11. Cuscuta is a

(A) total root parasite

(B) partial root parasite

(C) total stem parasite

(D) partial stem parasite

12. Cystolith is

(A) crystal of calcium oxalate

(B) crystal of magnesium carbonate

(C) crystal of calcium carbonate

(D) crystal of magnesium oxalate

13. Cytoskeleton is made up of

(A) calcium carbonate granules

(B) callose deposits

(C) cellulosic microfibrils

(D) proteinaceous filaments



14. ëA¡º[®¡> W¡ìyû¡ CO2 [Ñ‚[t¡A¡¹ìo¹ \>¸ šøìÚà\>

(A) 3 ATP &¤} 1 NADPH H+ +  

(B) 3 ATP &¤} 2 NADPH H+ +  

(C) 2 ATP &¤} 3 NADPH H+ +  

(D) 3 ATP &¤} 3 NADPH H+ +  

15. ¤à‹à ëƒïØl¡ šø[t¡ì™à[Kt¡àÚ, šàìÚ¹ ëš[Åìt¡
[>³—[º[Jt¡ ëA¡à>[i¡ Î[e¡t¡ ÒÚ?

(A) ¤¸¤Òê¡t¡ ATP

(B) šàÒü¹ç¡[®¡A¡ "¸à[Îl¡

(C) º¸àA¡[i¡A¡ "¸à[Îl¡

(D) ÎàÒü[i¡öA¡ "¸à[Îl¡

16. ¤àÍšì³àW¡ì>¹ Òà¹ Jå¤Òü ‹ã¹K[t¡ìt¡ Òì¤ ë™Jàì>

(A) ™ì=Ê¡ š[¹³àìo ®è¡[>³—Ñ‚ \º šà*Úà ™àÚ

(B) ¤àÚåšø¤àìÒ¹ K[t¡ì¤K Jå¤Òü ë¤[Å

(C) š[¹ì¤Å Jå¤Òü l¡üv¡œ¡ * Ç¡ÍH

(D) "àìš[Û¡A¡ "à‰¢t¡à Jå¤ ë¤[Å

17. Storage-& Î[e¡t¡ "àºå¹ ³åAå¡ìºàƒÿKì³ ëA¡à>[i¡
¤à‹à ëƒÚ?

(A) Òüìr¡àº "¸àìÎ[i¡A¡ "¸à[Îl¡

(B) [\ì¤kì¹[º>¡

(C) ÎàÒüìi¡àA¡àÒü[>>

(D) ³¸àìºÒüA¡ ÒàÒül¡öà\àÒül¡

/4 5 [ P.T.O.

14. For fixing of one molecule of CO2 in

Calvin cycle

(A) 3 ATP and 1 NADPH H+ +  are

required

(B) 3 ATP and 2 NADPH H+ +  are

required

(C) 2 ATP and 3 NADPH H+ +  are

required

(D) 3 ATP and 3 NADPH H+ +  are

required

15. In hurdle race, which of the

following is accumulated in leg

muscle?

(A) Performed ATP

(B) Pyruvic acid

(C) Lactic acid

(D) Citric acid

16. The rate of transpiration is very low

in a situation where

(A) groundwater is sufficiently

available

(B) wind is blowing with a very high 

velocity

(C) environment is very hot and dry

(D) relative humidity is very high

17. Sprouting of potato tuber under

storage condition can be prevented

by

(A) indole acetic acid

(B) gibberellin

(C) cytokinin

(D) maleic hydrazide



18. ëA¡à>[i¡¹ ëA¡àÅšƒ¢àÚ ÅàJà[Þt¡ [º[šl¡ ÅõTº ëƒJà 
™àÚ?

(A) "à[A¢¡¤¸àA¡[i¡[¹ÚàÚ

(B) ³àÒüìA¡àšÃà\³àÚ

(C) "¸àA¡[i¡ì>à³àÒü[Î[i¡ìÎ

(D) ëÐ¡öšìi¡à³àÒü[ÎìÎ

19. ³àÒüìi¡àA¡[“¡öÚàìA¡ ƒõÅ¸³à> A¡¹à¹ \>¸ ë™ ¹gA¡
¤¸¤Òê¡t¡ ÒÚ ëÎ[i¡ Òº

(A) ó¡àÐ¡ Nøã>

(B) "¸à[Îl¡ óå¡A¡[Î>

(C) "¸à[Îìi¡àA¡à¹³àÒü>

(D) ë\>àÎ Nøã>

20. l¡ü[Š±ƒìƒìÒ l¡üš[Ñ‚t¡ ÎUãìA¡àÅ ëA¡à>[i¡¹ ÎìU
Î´šA¢¡™åv¡û¡?

(A) ¤à[ÒA¡à

(B) Ç¡yû¡àoå

(C) Îã®¡ &[ºì³–i¡

(D) ¹Û¡ã ëA¡àÅ

21. [Î[ºÚà ¤à óÃ¡àì\ºà¹ "¸àìGà[>ì³ "oå>à[ºA¡à¹ ë™ 
Îðàyû¡³ ëƒJà ™àÚ t¡à Òº

(A) 9 0+

(B) 9 2+

(C) 9 3+

(D) 9 1+
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18. Branched chain lipids occur in the

cell membrane of

(A) Archaebacteria

(B) Mycoplasma

(C) Actinomycetes

(D) Streptomyces

19. The stain used to visualize

mitochondria is

(A) fast green

(B) acid fuchsin

(C) acetocarmine

(D) Janus green

20. Companion cells in plants are

associated with

(A) vessels

(B) sperms

(C) sieve elements

(D) guard cells

21. The microtubular pattern found in

axoneme of cilia or flagella is

(A) 9 0+

(B) 9 2+

(C) 9 3+

(D) 9 1+



22. [‡¤ã\šyã A¡àìr¡ \àÒüìº³ Òº

(A) &r¡àA¢¡ šøAõ¡[t¡¹

(B) &GàA¢¡ šøAõ¡[t¡¹

(C) ë³ÎàA¢¡ šøAõ¡[t¡¹

(D) š[º"àA¢¡ šøAõ¡[t¡¹

23. ëA¡à>ô "Uà>å[i¡ [¤[®¡Ä [¤Èàv¡û¡ šƒà=¢ * l¡öàìK¹
[>¤ã¢ÈA¡¹ìo P¡¹ç¡Œšèo¢ ®è¡[³A¡à šàº> A¡ì¹?

(A) Kº[K ¤Ññ

(B) "³Îõo &ìr¡àšÃà\³ãÚ \à[ºA¡à

(C) ³Îõo &ìr¡àšÃà\³ãÚ \à[ºA¡à

(D) ëAÃ¡àì¹àšÃàÊ¡

24. >ãìW¡¹ ëA¡à>P¡[º šàÅ«¢ãÚ ®¡à\A¡ A¡ºà?

(A) ëó¡ìºàì\> &¤} ëšøàA¡¸à[´¬Úà³

(B) ó¡¸à[ÎAå¡ºà¹ A¡¸à[´¬Úà³ &¤} ëšøàA¡¸à[´¬Úà³

(C) ëšøàA¡¸à[´¬Úà³ &¤} l¡à¹³àìi¡àì\>

(D) ó¡¸à[ÎAå¡ºà¹ A¡¸à[´¬Úà³ &¤} A¡A¢¡ A¡¸à[´¬Úà³

25. [>ìÈìA¡¹ š¹ [l¡´¬ìA¡¹ ¤[Ò@šøàW¡ã¹ Kk¡> A¡ì¹

(A) ëi¡Ð¡à

(B) ëi¡Kì³>

(C) ëš[¹Ñšà³¢

(D) ëš[¹A¡àš¢
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22. In dicotyledonous stem, xylem is

(A) endarch

(B) exarch

(C) mesarch

(D) polyarch

23. Which organelle plays a crucial role

in detoxifying many poisons and

drugs?

(A) Golgi body

(B) Rough endoplasmic reticulum

(C) Smooth endoplasmic reticulum

(D) Chloroplast

24. Which are lateral meristems?

(A) Phellogen and procambium

(B) Fascicular cambium and

procambium

(C) Procambium and dermatogen

(D) Fascicular cambium and cork

cambium

25. After fertilization, the outer

integument of ovule forms

(A) testa

(B) tegmen

(C) perisperm

(D) pericarp



26. A¡¸àÎìš[¹Úà> š[j¡ ëƒJà ™àÚ

(A) &[šl¡à¹[³ìÎ ¤à ¤[Ò@ÑzìA¡

(B) š[¹W¡ìyû¡

(C) &ìr¡àl¡à¹[³ìÎ ¤à "”z@ÑzìA¡

(D) ³ðà "}ìÅ

27. A¡Wå¡[¹šà>à l¡ü[Š±ìƒ "U\ \>> Qìi¡

(A) ¤yû¡ ‹à¤ìA¡¹ ³à‹¸ì³

(B) ÒùÑ¬ ‹à¤ìA¡¹ ³à‹¸ì³

(C) ‹à¤ìA¡¹ ³à‹¸ì³

(D) ®è¡[>³—Ñ‚ ‹à¤ìA¡¹ ³à‹¸ì³

28. š¹àK‹à>ã ë=ìA¡ š¹àKì¹oå¹ Ñ‚à>à”z¹o &A¡Òü
l¡ü[Š±ìƒ¹ [®¡Ä óå¡ìº¹ š¹àKì¹oåìt¡ Qi¡ìº t¡àìA¡
¤ìº

(A) ë\ì>àK¸à³ã

(B) A¡¸à[¹*K¸à³ã

(C) ë\Òüìi¡àì>àK¸à³ã

(D) "ìi¡àK¸à³ã

29. Î}A¡¹\ãì¤ ë™ í¤[ÅÊ¡¸[i¡ šøA¡à[Åt¡ ÒÚ t¡àìA¡ ¤ìº

(A) šøA¡i¡ í¤[ÅÊ¡¸

(B) šøZáÄ í¤[ÅÊ¡¸

(C) ÎÒšøA¡i¡ í¤[ÅÊ¡¸

(D) &[šÐ¡¸à[i¡A¡ í¤[ÅÊ¡¸
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26. Casparian strip is found in

(A) epidermis

(B) pericycle

(C) endodermis

(D) pith

27. Vegetative reproduction in water

hyacinth occurs by

(A) stolon

(B) offset

(C) runner

(D) sucker

28. Transfer of pollen grain from the

anther to the stigma of another

flower of same plant is called

(A) xenogamy

(B) karyogamy

(C) geitonogamy

(D) autogamy

29. A character which is expressed in

hybrid is called

(A) dominant

(B) recessive

(C) codominant

(D) epistatic



30. T. O. Diener "à[¤ÍHà¹ A¡ì¹[áìº>

(A) [šøÚ>Îô

(B) [®¡[¹Ú>

(C) ®¡àÒü¹ìÚl¡

(D) ¤¸àA¡[i¡[¹*ó¡à\

31. ƒå[i¡ šå}\>> ëA¡àÈ * >à[ºA¡à [>l¡ü[AÃ¡ÚàÎÎÒ
š¹àK>à[ºA¡à [l¡´¬A¡¹Þøý¡šì= šøì¤Å A¡¹ìº t¡àìA¡
¤ìº

(A) ëšàì¹àK¸à³ã

(B) ë³ìÎàK¸à³ã

(C) W¡¸àºàì\àK¸à³ã

(D) ë\Òüìi¡àì>àK¸à³ã

32. ëA¡à>[i¡ šàìi¡¹ l¡ài¡à šW¡à ë¹àK Îõ[Ê¡ A¡ì¹?

(A) Puccinia graminis tritici

(B) Helminthosporium oryzae

(C) Ustilago tritici

(D) Macrophomina phaseolina

33. Òü>óÃå¡ìÚgà ®¡àÒü¹àìÎ¹ šø\>[>A¡ ¤Ññ Òº

(A) &A¡t¡”|ã DNA

(B) &A¡t¡”|ã RNA

(C) [‡t¡”|ã DNA

(D) [‡t¡”|ã RNA
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30. T. O. Diener discovered

(A) prions

(B) virion

(C) viroid

(D) bacteriophage

31. Entry of pollen tube with two male

gametes and tube nucleus through

micropyle is called  

(A) porogamy

(B) mesogamy

(C) chalazogamy

(D) geitonogamy

32. Which causes stem rot of jute?

(A) Puccinia graminis tritici

(B) Helminthosporium oryzae

(C) Ustilago tritici

(D) Macrophomina phaseolina

33. The genetic material of influenza

virus is

(A) single-stranded DNA

(B) single-stranded RNA

(C) double-stranded DNA

(D) double-stranded RNA



34. [‡Î}A¡¹ \>ì>¹ ëi¡Ð¡ yû¡Î ">åšàt¡ Òº

(A) 1 : 1

(B) 1 : 2 : 1

(C) 1 : 1 : 1 : 1

(D) 9 : 3 : 3 : 1

35. ë™ l¡ü®¡[ºU óå¡º A¡Jì>àÒü šøÑ£å¡[i¡t¡ ÒÚ >à, t¡àìA¡ 
¤ìº

(A) "ìi¡àK¸à³àÎ

(B) [AÃ¡ìÐ¡àK¸à³àÎ

(C) W¡¸àÎì³àK¸à³àÎ

(D) "¸àìºàK¸à³àÎ

36. [i¡ìA¡àÒüA¡ "¸à[Îl¡ l¡üš[Ñ‚t¡ =àìA¡

(A) Nøà³-ë>ìK[i¡®¡ ¤¸àA¡[i¡[¹Úà¹ ëA¡àÅšøàW¡ãì¹

(B) Nøà³-š[\[i¡®¡ ¤¸àA¡[i¡[¹Úà¹ ëA¡àÅšøàW¡ãì¹

(C) ®¡àÒü¹àìÎ¹ A¡¸àš[Îìl¡

(D) ÎàÚàì>à¤¸àA¡[i¡[¹Úà¹ ëšøàìi¡àšÃà\ì³

37. A¡àË¡ Òº

(A) šøà=[³A¡ ëóÃ¡àìÚ³

(B) šøà=[³A¡ \àÒüìº³

(C) ëKïo \àÒüìº³

(D) ëKïo ëóÃ¡àìÚ³
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34. The dihybrid test cross ratio is

(A) 1 : 1

(B) 1 : 2 : 1

(C) 1 : 1 : 1 : 1

(D) 9 : 3 : 3 : 1

35. The bisexual flower which never

open, is known as

(A) autogamous

(B) cleistogamous

(C) chasmogamous

(D) allogamous

36. Teichoic acid is present in the

(A) cell wall of gram-negative

bacteria

(B) cell wall of gram-positive

bacteria

(C) viral capsid

(D) protoplasm of Cyanobacteria

37. Wood is

(A) primary phloem

(B) primary xylem

(C) secondary xylem

(D) secondary phloem



38. ë³ìr¡º [>¤¢à[W¡t¡ [>³—[º[Jt¡ í¤[ÅÊ¡¸P¡[º¹ ³ì‹¸
ëA¡à>P¡[º šøZáÄ í¤[ÅÊ¡¸?

(A) Î¤å\ ¤ìo¢¹ ¤ã\šy &¤} J¤¢ íƒìQ¢¸¹ A¡àr¡

(B) ƒãQ¢ íƒìQ¢¸¹ A¡àr¡ &¤} A¡à[Û¡A¡ šåìÍš¹
"¤Ñ‚à>

(C) Òºåƒ ¤ìo¢¹ ¤ã\šy &¤} Aå¡[e¡t¡ "àAõ¡[t¡¹
¤ã\

(D) J¤¢ íƒìQ¢¸¹ A¡àr¡ &¤} ëKàº "àAõ¡[t¡¹ ¤ã\

39. AaBbCc [\ì>ài¡àÒüš[¤[ÅÊ¡ l¡ü[Š±ƒ ë=ìA¡ A¡t¡
šøA¡àì¹¹ K¸àì³i¡ ít¡[¹ Òì¤?

(A) 9

(B) 4

(C) 6

(D) 8

40. [>³—[º[Jt¡ ëA¡à>[i¡ ëšøàA¡¸à[¹*[i¡A¡ ëA¡àìÅ šà*Úà
™àÚ >à?

(A) šÃà\³à šƒ¢à

(B) ëA¡àÅšøàW¡ã¹

(C) [>l¡ü[AÃ¡Ú šƒ¢à

(D) ¹àÒüì¤àì\à³

41. [>³—[º[Jt¡ ëA¡àÅãÚ "Uà>åP¡[º¹ ³ì‹¸ ëA¡à>[i¡
"à‰¢[¤ìÅÃÈA¡ l¡ü;ìÎW¡A¡ Îe¡Ú A¡ì¹?

(A) ëÎ[–i¡ö*º

(B) ºàÒüìÎàì\à³

(C) ëyû¡àì³àšÃàÊ¡

(D) ëAÃ¡àì¹àšÃàÊ¡
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38. Which of the following characters

chosen by Mendel are recessive?

(A) Green pod colour and dwarf

stem height

(B) Tall stem height and axial flower 

position

(C) Yellow pod colour and wrinkled

seed shape

(D) Dwarf stem height and round

seed shape

39. How many different types of gametes 

will be produced by a plant having

genotype AaBbCc?

(A) 9

(B) 4

(C) 6

(D) 8

40. Which of the following is not found

in prokaryotic cell?

(A) Plasma membrane

(B) Cell wall

(C) Nuclear envelop

(D) Ribosome

41. Which of the following cell organelles 

stores hydrolytic enzymes?

(A) Centriole

(B) Lysosome

(C) Chromoplast

(D) Chloroplast



42. [>³—[º[Jt¡ l¡üšÛ¡à¹P¡[º¹ ³ì‹¸ ëA¡à>[i¡ ³à>åìÈ¹
¹v¡û¡W¡àš ÒùàÎ A¡¹à¹ \>¸ ¤¸¤Òê¡t¡ ÒÚ?

(A) [>ìA¡à[i¡>

(B) ³¹[ó¡>

(C) Aå¡Òü>àÒü>

(D) ë¹Îà¹[š>

43. ëA¡à>[i¡ šøìÑ¬ƒ> šø[t¡ì¹à‹ã [ÒÎàì¤ ¤¸¤Òê¡t¡ ÒÚ?

(A) ëA¡à¤àÂi¡ ëAÃ¡à¹àÒül¡

(B) >¸àš=à[º> "¸àìÎ[i¡A¡ "¸à[Îl¡

(C) [ó¡>àÒüº³à¹[A¡l¡ü[¹A¡ "¸à[Îìi¡i¡

(D) A¡¸àº[ÎÚà³ A¡à¤¢ì>i¡

44. ³àÒüìi¡àA¡>[l¡öÚà¹ "”z@šƒ¢àÚ l¡üš[Ñ‚t¡ ÒüìºA¡i¡ö>
š[¹¤Ò>t¡ì”| A¡³ìšÃG—I &¤} A¡³ìšÃG—IV Òº 
™=àyû¡ì³

(A) NADH [l¡ÒàÒüìl¡öà[\ì>\ &¤} 
FADH H+ +

(B) NADH H+ +  &¤} NADH

[l¡ÒàÒüìl¡öà[\ì>\

(C) NADH [l¡ÒàÒüìl¡öà[\ì>\ &¤}
ÎàÒüìi¡àìyû¡à³ ‘c’ "[Gìl¡\ A¡³ìšÃG

(D) NADH [l¡ÒàÒüìl¡öà[\ì>\ &¤} ATP

[Îì”‚\
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42. Which of the following alkaloids is

used to decrease blood pressure in

human?

(A) Nicotene

(B) Morphine

(C) Quinine

(D) Reserpine

43. Which one is used as anti-

transpirant?

(A) Cobalt chloride

(B) Napthalene acetic acid

(C) Phenylmercuric acetate

(D) Calcium carbonate

44. In ETS (Electron Transport System),

found in inner membrane of

mitochondria, complex—I and

complex—IV are respectively

(A) NADH dehydrogenase and 

FADH H+ +

(B) NADH H+ +  and NADH

dehydrogenase

(C) NADH dehydrogenase and

cytochrome ‘c’ oxidase complex

(D) NADH dehydrogenase and ATP

synthase



45. ®å¡j¡à¹ ¤ãì\ l¡üš[Ñ‚t¡ "¸à[ºl¡üì¹à> Ñzì¹ ë¤[Å
š[¹³àìo =àìA¡

(A) [º[šl¡

(B) "[G>

(C) ëšøà[i¡>

(D) Ð¡àW¢¡

46. ë³ìr¡º [º}ìA¡\ š™¢ì¤Û¡ìo "Î³=¢ ÒìÚ[áìº>
t¡à¹ A¡à¹o Òº

(A) ÎàÒü>¸àš[ÎÎ

(B) yû¡[Î}-*®¡à¹

(C) [³l¡üìi¡Å>

(D) Ñ¬à‹ã> Îe¡à¹o

47. ëA¡à>ô Kàìá¹ t¡¹ç¡Û¡ã¹ ë®¡ì>\åìÚºà ëƒìÅ ƒåì‹¹
š[¹¤t¢¡ [ÒÎàì¤ ¤¸¤Òê¡t¡ ÒÚ?

(A) Hevea brasiliensis

(B) Brosimum galactodendron

(C) Castilla elastica

(D) Ficus elastica
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45. Aleurone layer in maize grain is

specially rich in

(A) lipids

(B) auxins

(C) proteins

(D) starch

46. Mendel could not observe linkage

due to

(A) synapsis

(B) crossing-over

(C) mutation

(D) independent assortment

47. Latex of which tree is used as a

substitute of milk for the people of

Venezuela?

(A) Hevea brasiliensis

(B) Brosimum galactodendron

(C) Castilla elastica

(D) Ficus elastica



48. [ÒìÐ¡àì\> t¡w ">å™àÚã &[šl¡à¹[³Î (¤[Ò@ÑzA¡)
K[k¡t¡ ÒÚ

(A) A¡¸à[´¬Úà³ ë=ìA¡

(B) A¡ìi¢¡G ¤à ¤[Ò@Ñz¹ ë=ìA¡

(C) l¡à¹³àìi¡àì\> ë=ìA¡

(D) ëš[¹ì¤Ã³ ë=ìA¡

49. Saccharomyces cerevisiae ë=ìA¡
¤à[o[\¸A¡®¡àì¤ ë™ l¡ü;ìÎW¡A¡[i¡ ít¡[¹ A¡¹à ÒÚ
ëÎ[i¡ Òº

(A) º¸àA¡ìi¡\

(B) Òü>®¡à¹ìi¡\

(C) "¸à³àÒüìº\

(D) ³¸àºìi¡\

50. "[Gì\ì>¹ ë™àKà> ¤õ[‡ý¡¹ Îàì= Îàì=
ÎàìºàA¡Î}ìÅÃìÈ¹ Òà¹ ÒùàÎ šà*Úà¹ Qi¡>àìA¡ ¤ìº

(A) ®¡à¹¤åìK¢¹ šø®¡à¤

(B) [¹W¡³r¡ º¸àìR¡¹ šø®¡à¤

(C) &³à¹Îì>¹ ¤õ[‡ý¡¹ Qi¡>à¹ šø®¡à¤

(D) ë¤àì¹¹ šø®¡à¤
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48. According to histogen theory,

epidermis is derived from

(A) cambium

(B) cortex

(C) dermatogen

(D) periblem

49. An enzyme produced commercially

from Saccharomyces cerevisiae is

(A) lactase

(B) invertase

(C) amylase

(D) maltase

50. A decrease in photosynthetic rate

with increased availability of oxygen

is called

(A) Warburg effect

(B) Richmond Lang effect

(C) Emerson’s enhancement effect

(D) Bohr effect



GROUP—B / ®¡àK—B

ZOOLOGY / šøàoã[¤ƒ¸à

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

51. >ºàA¡à¹ "[t¡[¹v¡û¡ Å«àÎ™”| ëƒJà ™àÚ

(A) A¡Òü (Anabas) ³àìá

(B) ³àP¡¹ (Clarias) ³àìá

(C) [Å[R¡( Heteropneustes) ³àìá

(D) [W¡}[Øl¡ìt¡

52. "à¹ìÅàºà¹ Òê¡;[šr¡

(A) 7-šøìA¡àË¡™åv¡û¡

(B) 11-šøìA¡àË¡™åv¡û¡

(C) 4-šøìA¡àË¡™åv¡û¡

(D) 13-šøìA¡àË¡™åv¡û¡

53. t¡à¹à³àìá¹ K³> "U Òº

(A) ³à}Îº šƒ

(B) A¡[È¢A¡à

(C) šàJ>à

(D) >àºãšƒ

54. ÒàU¹ìA¡ "¤Å¸Òü "[¤¹t¡®¡àì¤ Îòàt¡à¹ A¡ài¡ìt¡ ÒÚ, 
A¡à¹o &¹ ëƒìÒ =àìA¡ >à

(A) ¤Û¡ šàJ>à

(B) óå¡ºA¡à

(C) ši¡A¡à

(D) óå¡Îóå¡Î

/4 15

Direction : Answer the following questions

by selecting the correct option.

51. Tubular accessory breathing organ

is found in

(A) Anabas (Koi fish)

(B) Clarias (Magur fish)

(C) Heteropneustes (Singhi fish)

(D) Prawn

52. The heart of cockroach is

(A) 7-chambered

(B) 11-chambered

(C) 4-chambered

(D) 13-chambered

53. The locomotory organ of starfish is

(A) muscular feet

(B) tentacles

(C) fins

(D) tube feet

54. Shark must constantly swim

because it lacks

(A) pectoral fins

(B) gills

(C) swim bladder

(D) lungs



55. ë³ìr¡ºãÚ ó¡¸àC¡ì¹¹ šõ=A¡ãA¡¹o Qìi¡

(A) [l¡ìšÃà[i¡ì>

(B) \àÒüìKà[i¡ì>

(C) "¸à>àìó¡\-I-&

(D) "¸à>àìó¡\-II-&

56. Å«àÎA¡àì™¢¹ Î³Ú ¹ç¡Òü³àìá

(A) \º ³åJ[á‰šì= ëƒìÒ šøì¤Å A¡ì¹ &¤}
A¡à>ìA¡à¹ [á‰šì= ëƒÒ ë=ìA¡ ë¤[¹ìÚ ™àÚ

(B) \º A¡à>ìA¡à¹ [á‰šì= ëƒìÒ šøì¤Å A¡ì¹
&¤} ³åJ[á‰ [ƒìÚ ëƒÒ ë=ìA¡ ë¤[¹ìÚ ™àÚ

(C) \º ³åJ[á‰šì= ëƒìÒ šøì¤Å A¡ì¹ &¤}
³åJ[á‰šì=Òü ëƒÒ ë=ìA¡ ë¤[¹ìÚ ™àÚ

(D) \º A¡à>ìA¡à¹ [á‰šì= ëƒìÒ šøì¤Å A¡ì¹
&¤} A¡à>ìA¡à¹ [á‰šì=Òü ëƒÒ ë=ìA¡
ë¤[¹ìÚ ™àÚ

57. "à¹ìÅàºà¹ ëƒìÒ "¸àºà¹ã ëš[Å l¡üš[Ñ‚t¡ =àìA¡

(A) Òê¡;[šìr¡

(B) [Òì³à[Îìº

(C) ó¡¸ài¡ ¤[l¡ìt¡

(D) l¡à>à¹ ëKàØl¡à¹ [ƒìA¡

58. [³*[ÎÎ-I [¤®¡à\ì>¹ ëA¡à>ô ƒÅàÚ
ÎàÒü>¸àšìi¡à[>³àº A¡³ìšÃG ®¡àR¡ìt¡ Ç¡¹ç¡ A¡ì¹?

(A) š¸à[A¡[i¡>

(B) [l¡ìšÃà[i¡>

(C) l¡àÚàA¡àÒüì>[ÎÎ

(D) ë³i¡àìó¡\-I
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55. Segregation of Mendelian factors

occurs during

(A) diplotene

(B) zygotene

(C) anaphase-I

(D) anaphase-II

56. During breathing in Rohu fish

(A) water enters the body through

mouth and exists the body

through opercular opening

(B) water enters the body through

opercular opening and exists

the body through mouth

(C) water enters the body through

mouth and also exists the body

through mouth

(D) water enters the body through

opercular opening and also

exists the body through

opercular opening

57. Alary muscles in cockroach are

present

(A) in heart

(B) in haemocoel

(C) in fat bodies

(D) at the base of wings

58. At which phase of meiosis–I

dissolution of synaptonemal

complex begins?

(A) Pachytene

(B) Diplotene

(C) Diakinesis

(D) Metaphase-I



59. šøAõ¡t¡ šå>¹ç¡;šàƒ> ëƒJà ™àÚ

(A) ÒàÒül¡öàìt¡

(B) šÃ¸à>à[¹Úàìt¡

(C) "à¹ìÅàºàìt¡

(D) (A) &¤} (B) l¡ü®¡ÚÒü

60. "¸à[>[ºl¡à * ë³àºàÑHà¹ ³ì‹¸ Î}ì™àK¹Û¡àA¡à¹ã
šøàoã Òº

(A) ëš[¹ìši¡àÎ

(B) ëº[šìl¡àÎàÒüì¹>

(C) [>l¡ü[š[º>à

(D) ëšøàìi¡àšìi¡¹àÎ

61. Ñšg "ì™ï> \>> A¡ì¹

(A) ëK[³l¡üº ít¡[¹¹ ³à‹¸ì³

(B) Jr¡ã®¡¤ì>¹ ³à‹¸ì³

(C) ³åAå¡ìºàƒÿKì³¹ ³à‹¸ì³ 

(D) l¡üšì¹¹ Î¤ A¡Ú[i¡

62. &A¡[i¡ ³à>¤[ÅÇ¡ &A¡[i¡ ëáàìi¡à ëº\ÎÒ \–µNøÒo
A¡¹º¡ú &Òü Qi¡>à[i¡ [>ìƒ¢Å A¡ì¹

(A) ë¹ìi¡öàìNø[Î®¡ [¤¤t¢¡>

(B) [³l¡üìi¡Åà>

(C) "¸ài¡à[®¡\³

(D) ¹ê¡šà”z¹
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59. True regeneration is found in

(A) Hydra

(B) planaria

(C) cockroach

(D) Both (A) and (B)

60. The connecting link between

Annelida and Mollusca is

(A) Peripatus

(B) Lepidosiren

(C) Neopilina

(D) Protopterus

61. Sponges reproduce asexually by

(A) gemmule formation

(B) fragmentation

(C) budding

(D) All of the above

62. A baby has been born with a small

tail. It is the case exhibiting

(A) retrogressive evolution

(B) mutation

(C) atavism

(D) metamorphosis



63. šøàAõ¡[t¡A¡ [>¤¢àW¡> ³t¡¤àƒ ™à ¤¸àJ¸à A¡¹ìt¡ "Î³=¢ 
ÒÚ t¡à Òº

(A) ë™àK¸t¡ì³¹ l¡üƒô¤t¢¡> 

(B) ë™àK¸t¡ì³¹ "à[¤®¢¡à¤

(C) šøA¡¹ìo¹ l¡ü;š[v¡ * Îe¡à¹o

(D) (B) &¤} (C) l¡ü®¡ÚÒü

64. ¹ç¡Òü ³àìá¹ ši¡A¡à[Ñ‚t¡ K¸àÎ Û¡¹oA¡à¹ã Nø[”‚[i¡ Òº

(A) ¤à*³¸àì>¹ Nø[”‚

(B) ¤øå>àì¹¹ Nø[”‚

(C) ë¹l¡ Nø[”‚

(D) ë¹[i¡Úà [³¹à[¤[ºÚà

65. ë™ Ñ¬à‹ã>\ã¤ã >àÒüìi¡öàì\>[Ñ‚[t¡A¡à¹ã ¤¸àA¡[i¡[¹Úà
\º\ ó¡ào¢ Azolla-¹ Îàì=* [³ì=à\ã¤ã¹ê¡ìš
=àA¡ìt¡ šàì¹, ëÎ[i¡ Òº

(A) Tolypothrix

(B) Anabaena

(C) Chlorella

(D) Nostoc

66. JàƒA¡ Ñzì¹ ë™ š[¹³ào Å[v¡û¡ Î[e¡t¡ =àìA¡, t¡àìA¡ 
¤ìº

(A) ë³ài¡ šøà=[³A¡ l¡ü;šàƒ>Åãºt¡à

(B) ë>i¡ šøà=[³A¡ l¡ü;šàƒ>Åãºt¡à

(C) ëKïo l¡ü;šàƒ>Åãºt¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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63. The theory of natural selection fails

to explain

(A) survival of the fittest

(B) arrival of the fittest

(C) origin and transmission of

variations

(D) Both (B) and (C)

64. The gas-secreting gland present in

swim bladder of Rohu fish is

(A) Bowman’s gland

(B) Brunner’s gland

(C) red gland

(D) retia mirabilia

65. The free-living nitrogen-fixing

cyanobacteria which can also form

symbiotic association with the water 

fern, Azolla is

(A) Tolypothrix

(B) Anabaena

(C) Chlorella

(D) Nostoc

66. Energy storage at consumer level is

called

(A) gross primary productivity

(B) net primary productivity

(C) secondary productivity

(D) None of the above



67. "à¹ìÅàºà¹ l¡üm¡Úì> ëA¡à>ô l¡à>à "}ÅNøÒo
A¡ì¹?

(A) ëšøàì=à¹à[ÎA¡ l¡à>à

(B) ë³ìÎàì=à¹à[ÎA¡ l¡à>à

(C) ë³i¡àì=à¹à[ÎA¡ l¡à>à

(D) (B) &¤} (C) l¡ü®¡ÚÒü

68. ëAò¡ìW¡à¹ ¤õv¡àA¡à¹ ëš[Å¹ Î}ìA¡àW¡ì>¹ ó¡ìº

(A) ëƒÒà}Å Ñ‚éº ÒÚ

(B) ëƒÒà}Å º´¬àìi¡ ÒÚ

(C) ëƒÒà}Å ë¤òìA¡ ™àÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

69. [¤l¡àì¹¹ "U ëƒJà ™àÚ

(A) šå¹ç¡È Aå¡ì>à¤¸àìR¡

(B) Ñ|ã Aå¡ì>à¤¸àìR¡

(C) šå¹ç¡È "à¹ìÅàºàìt¡

(D) Ñ|ã "à¹ìÅàºàìt¡

70. [>³—[º[Jt¡ ëA¡à>[i¡ "”z@\¹àÚå\ šøàoã?

(A) šÃà[i¡šàÎ

(B) A¡¸àUà¹ç¡

(C) ÒàU¹

(D) l¡º[ó¡>
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67. Wings of cockroach used in flight

are

(A) prothoracic wings

(B) mesothoracic wings

(C) metathoracic wings

(D) Both (B) and (C)

68. Contraction of circular muscles of

earthworm causes

(A) shortening of the body portion

(B) elongation of the body portion

(C) curving of the body portion

(D) None of the above

69. Bidder’s organs are found in

(A) male toad

(B) female toad

(C) male cockroach

(D) female cockroach

70. Which one of the following is an

ovoviviparous animal?

(A) Platypus

(B) Kangaroo

(C) Shark

(D) Dolphin



71. ¤>¸\ã¤> Î}¹Û¡o "àÒü> W¡àºå ÒÚ

(A) 1972 Îàìº

(B) 1981 Îàìº

(C) 1986 Îàìº

(D) 1991 Îàìº

72. [>³—[º[Jt¡ ëA¡à>[i¡ ex-situ Î}¹Û¡ìo¹
l¡üƒàÒ¹o?

(A) \àt¡ãÚ šàA¢¡

(B) "®¡Úà¹o¸

(C) ¤ã\ ¤¸àS¡

(D) š[¤y "¹o¸

73. šõ[=¤ã¹ ë³ài¡ A¡à¤¢ì>¹ 70% šà*Úà ™àÚ

(A) ³ÒàÎ³åì‰

(B) "¹ìo¸

(C) tõ¡o®è¡[³ìt¡

(D) "¸àìNøà¤àÑñt¡ì”|

74. [A¡áå šøàoã t¡àìƒ¹ Jàƒ¸[Ñ‚t¡ ëÎºåìºà\ šå>¹àÚ
šà[W¡t¡ A¡¹à¹ \>¸ [>ì\¹ ³º ®¡Û¡o A¡ì¹¡ú
&ÒüÎ¤ šøàoãìƒ¹ ¤ìº

(A) Î¤¢®å¡A¡

(B) A¡ìšøàó¡¸àKàÎ

(C) ³àÒüìyû¡àó¡¸àKàÎ

(D) ³¸àìyû¡àó¡¸àKàÎ
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71. The Wildlife Protection Act was

introduced in

(A) 1972

(B) 1981

(C) 1986

(D) 1991

72. Which one of the following is an

example of ex-situ conservation?

(A) National park

(B) Wildlife sanctuary

(C) Seed bank

(D) Sacred forest

73. About 70% of global carbon is found

in

(A) oceans

(B) forests

(C) grasslands

(D) agroecosystem

74. Some animals eat their faeces to

digest the cellulose contents again.

Such animals are called

(A) omnivorous

(B) coprophagous

(C) microphagous

(D) macrophagous



75. A¡¸àìÎìº¹ "à®¡¸”z¹ão l¡üšàƒà> ëA¡à>[i¡¹ "à[”|A¡
ëÅàÈìo¹ Îàì= Î´š[A¢¡t¡?

(A) ÎàÚàì>àìA¡à¤àºà[³>

(B) [=Úà[³>

(C) ¹àÒüì¤àóÃ¡¸à[®¡>

(D) šàÒü[¹l¡[G>

76. [³ìGài¡ö[ó¡A¡ šå[Ê¡ ëƒJà ™àÚ

(A) Paramecium-&

(B) Euglena-ët¡

(C) Trypanosoma-ët¡

(D) Diatom-&

77. [>³—[º[Jt¡ ëA¡à>[i¡ ³>åÈ¸ÎõÊ¡ ¤àÑñt¡”| >Ú?

(A) Òàì¤¢[¹Úà³

(B) "¸àìA¡àÚà[¹Úà³

(C) A¡ºà šø[t¡šàº>

(D) "¹o¸

78. ™à ¹Û¡à A¡¹à¹ \>¸ [W¡šìA¡à "àì–ƒàº> Ç¡¹ç¡
ÒìÚ[áº t¡à Òº

(A) \ºà®è¡[³

(B) tõ¡o®è¡[³

(C) "¹o¸

(D) KõÒšà[ºt¡ šÇ¡
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75. Castle’s intrinsic factor relates to

intestinal absorption of

(A) cyanocobalamine

(B) thiamine

(C) riboflavin

(D) pyridoxine

76. Mixotrophic nutrition is found in

(A) Paramecium

(B) Euglena

(C) Trypanosoma

(D) Diatom

77. Which of the following is not a

man-made ecosystem?

(A) Herbarium

(B) Aquarium

(C) Tissue culture

(D) Forest

78. Chipko Movement was launched for

the protection of

(A) wetland

(B) grassland

(C) forest

(D) livestock



79. ³>åÈ¸ [yû¡Úà ë™³> ¤>\ Î´šƒ "àÒ¹ìo¹ ">å³[t¡ 
ëƒ*Úà ÒÚ >à

(A) "®¡Úà¹o¸ìt¡

(B) \àt¡ãÚ šàìA¢¡

(C) ¤àìÚà[Ñ£¡Úà¹ [¹\àì®¢¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

80. ëA¡à>[i¡ šåAå¡ì¹¹ ¤àÑñt¡ì”| &A¡à[‹A¡ i¡ö[ó¡A¡ Ñzì¹
"¤Ñ‚à> A¡ì¹?

(A) ó¡àÒüìi¡àšÃ̧ àS¡i¡>

(B) \åšÃ¸àS¡i¡>

(C) ³àá

(D) ¤¸àR¡

81. šàÚ¹à¹ ëšìC¡à¹à[ºÎ ë³\¹ ëš[Å ÎàÒà™¸ A¡ì¹

(A) l¡à>à¹ l¡üìv¡àºì>

(B) l¡à>à¹ "¤>³ì>

(C) ³à[i¡ìt¡ Òòài¡ìt¡

(D) l¡üšì¹¹ Î¤ A¡Ú[i¡

82. ¹ç¡Òü ³àìá¹ ëA¡à>ô šàJ>à [ƒA¡ š[¹¤t¢¡ì> ÎàÒà™¸
A¡ì¹?

(A) ¤Û¡ šàJ>à

(B) šõË¡ šàJ>à

(C) šàÚå šàJ>à

(D) šåZá šàJ>à
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79. Human activity like collection of

forest products is not allowed in

(A) wildlife sanctuary

(B) national park

(C) biosphere reserve

(D) None of the above

80. Which one occupies more than one

trophic level in a pond ecosystem?

(A) Phytoplankton

(B) Zooplankton

(C) Fish

(D) Frog

81. Pectoralis major muscle of pigeon

helps in

(A) elevating wing

(B) down stroke of wing

(C) walking on land

(D) All of the above

82. Which fin of Rohu fish acts as

steering apparatus?

(A) Pectoral fins

(B) Dorsal fin

(C) Anal fin

(D) Caudal fin



83. [i¡A¡[i¡[A¡¹ ƒòàìt¡¹ šøAõ¡[t¡ Òº

(A) l¡àÒü[ó¡*l¡–i¡

(B) [šÃl¡üì¹àl¡–i¡

(C) "¸àìyû¡àl¡–i¡

(D) ë=ìA¡àl¡–i¡

84. ³Åà¹ ºà®¢¡àìA¡ ¤ìº

(A) ³¸àKi¡

(B) A¡¸ài¡à¹[šºà¹

(C) [¹Kºà¹

(D) Nøà¤

85. ë™ï> [y¹ê¡št¡à ëƒJà ™àÚ

(A) ë³ï³à[áìt¡

(B) šø\àš[t¡ìt¡

(C) "à¹ìÅàºàìt¡

(D) ³Úèì¹

86. "à¹ìÅàºà¹ ëƒìÒ A¡t¡P¡[º [Ñš¹àA¡º =àìA¡?

(A) 12 ë\àØl¡à

(B) 10 ë\àØl¡à

(C) 8 ë\àØl¡à

(D) 6 ë\àØl¡à
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83. Teeth of house lizard are

(A) diphyodont

(B) pleurodont

(C) acrodont

(D) thecodont

84. Larva of mosquito is called

(A) maggot

(B) caterpillar

(C) wriggler

(D) grub

85. Sexual trimorphism is found in

(A) honeybee

(B) butterfly

(C) cockroach

(D) peacock

86. How many spiracles are found in

cockroach?

(A) 12 pairs

(B) 10 pairs

(C) 8 pairs

(D) 6 pairs



87. &A¡[i¡ š¹\ã¤ã \ã¤ ™J> ">¸ &A¡[i¡ š¹\ã¤ã
\ãì¤¹ l¡üš¹ [>®¡¢¹ A¡ì¹ ë¤òìW¡ =àìA¡, t¡àìA¡ ¤ìº

(A) ¤[Ò@š¹\ã¤ã

(B) "”z@š¹\ã¤ã

(C) "[t¡š¹\ã¤ã

(D) ÒàÒüìšàš¸à¹àÎàÒüi¡

88. í\¤ [¤¤t¢¡ì>¹ Ñ¬šìÛ¡ &A¡[i¡ P¡¹ç¡Œšèo¢ šø³ào Òº

(A) Î³Î}Ñ‚ * ºåœ¡šøàÚ "ìU¹ Îõ[Ê¡

(B) Î³¤õv¡ãÚ * ºåœ¡šøàÚ "ìU¹ Îõ[Ê¡

(C) Ç¡‹å³ày Î³Î}Ñ‚ "ìU¹ Îõ[Ê¡

(D) Î³Î}Ñ‚ * Î³¤õv¡ãÚ "ìU¹ Îõ[Ê¡

89. [>³—[º[Jt¡ ëA¡à>ô šø\à[t¡ &A¡[i¡ [>[ƒ¢Ê¡ "e¡ìº
Îã³à¤‡ý¡ =àìA¡?

(A) [Î¤[º} šø\à[t¡

(B) &ìr¡[³A¡ šø\à[t¡

(C) "¸àìºàš¸à[i¡öA¡ šø\à[t¡

(D) [Î³š¸à[i¡öA¡ šø\à[t¡

90. ™J> ƒå[i¡ ¤àÑñt¡”| š¹Ñš¹ìA¡ "[‹yû¡³o A¡ì¹,
t¡J> ëÎÒü "e¡ºìA¡ ¤ìº

(A) "à¤àÎÑ‚º

(B) [>Wô¡

(C) ÒüìA¡àìi¡à>

(D) ÒüìA¡ài¡àÒüš
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87. A parasitic organism living on or in

another parasite is called

(A) ectoparasite

(B) endoparasite

(C) hyperparasite

(D) hypoparasite

88. An important evidence in favour of

organic evolution is the occurrence

of

(A) homologous and vestigial

organs

(B) analogous and vestigial organs

(C) homologous organs only

(D) homologous and analogous

organs

89. Which of the following species is

restricted to area?

(A) Sibling species

(B) Endemic species

(C) Allopatric species

(D) Sympatric species

90. When two ecosystems overlap each

other, the overlapping region is

called

(A) habitat

(B) niche

(C) ecotone

(D) ecotype



91. Òü*[ÒÙàìÎ¹ šø[t¡[i¡ "Nøšìƒ * šÆW¡àƒôšìƒ
A¡à™¢A¡à¹ã "àUåìº¹ Î}J¸à Òº ™=àyû¡ì³

(A) 3[i¡ "àUåº &¤} 4[i¡ "àUåº

(B) 4[i¡ "àUåº &¤} 3[i¡ "àUåº

(C) 2[i¡ "àUåº &¤} 3[i¡ "àUåº

(D) 1[i¡ "àUåº &¤} 2[i¡ "àUåº

92. ë™ Ò¹ì³à> ¤¸àR¡à[W¡¹ ¹ê¡šà”zì¹ ÎàÒà™¸ A¡ì¹ ëÎ[i¡
Òº

(A) Òü>Îå[º>

(B) "¸à[l¡ö>à[º>

(C) =àÒüì³à[Î>

(D) =àÒü¹[G>

93. [Å´¬ã ëKàyãÚ l¡ü[Š±ìƒ¹ ³èìº¹ "¤å¢ìƒ
>àÒüìi¡öàì\>ìA¡ [¤\à[¹t¡ A¡ì¹ "¸àì³à[>ÚàÚ
š[¹ot¡ A¡¹à¹ \>¸ ƒàÚã l¡ü;ìÎW¡A¡[i¡ Òº

(A) "¸à³àÒüì>\

(B) >àÒüìi¡öà[\ì>\

(C) >àÒüìi¡öi¡ [¹l¡àìC¡\

(D) >àÒüi¡öàÒüi¡ [¹l¡àìC¡\

94. [>l¡üì³[i¡A¡ "[Ñ‚ šà*Úà ™àÚ

(A) ¹ç¡Òü ³àìá

(B) "à¹ìÅàºàìt¡

(C) ÒàUì¹

(D) šàÚ¹àìt¡
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91. In Eohippus, numbers of functional

digits in each forelimb and hind-

limb are respectively

(A) 3 digits and 4 digits

(B) 4 digits and 3 digits

(C) 2 digits and 3 digits

(D) 1 digit and 2 digits

92. The hormone that helps in

metamorphosis of tadpole is

(A) insulin

(B) adrenaline

(C) thymosine

(D) thyroxine

93. The enzyme responsible for the

reduction of molecular nitrogen to

the level of ammonia in the

liguminous root nodule is

(A) aminase

(B) nitrogenase

(C) nitrate reductase

(D) nitrite reductase

94. Pneumatic bone is found in

(A) Rohu fish

(B) cockroach

(C) shark

(D) pigeon



95. [>³—[º[Jt¡ ëA¡à>[i¡ ³àÒüìi¡à[i¡A¡ [¤È [ÒÎàì¤ A¡à\
A¡ì¹?

(A) Ca 2+

(B) Mg2+

(C) A¡º[W¡[Î>

(D) [i¡l¡ü[¤l¡ü[º>

96. [>³—[º[Jt¡ ëA¡à>ô šø³ào[i¡ º¸à³àìA¢¡¹ "[\¢t¡
í¤[ÅìÊ¡¸¹ ¤}Åà>åÎ¹o ³t¡¤àƒ[i¡ìA¡ Î³=¢> A¡ì¹
>à?

(A) Îàìš¹ ëƒìÒ l¡üšàìU¹ ">åš[Ñ‚[t¡

(B) \º\ šàJãìt¡ [ºœ¡šìƒ¹ l¡üš[Ñ‚[t¡

(C) ë³ºà[>> ¹gìA¡ ¹[gt¡ ëššà¹l¡ ³=

(D) P¡Òà¤àÎã šøàoãìƒ¹ ëƒìÒ ¹gìA¡¹ ">åš[Ñ‚[t¡

97. [>³—[º[Jt¡ ëA¡à>[i¡ l¡üÒüìšàA¡à¹ "ì”| "¤Ñ‚à> A¡ì¹ 
ëÎºåìºàì\¹ š[¹šàìA¡ ÎàÒà™¸ A¡ì¹?

(A) Trypanosoma

(B) Trichonympha

(C) Giardia

(D) Trichomonas
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95. Which of the following serves as

mitotic poison?

(A) Ca 2+

(B) Mg2+

(C) Colchicine

(D) Tubulin

96. Which of the following evidences

does not favour the Lamarckian

concept of inheritance of acquired

characters?

(A) Absence of limbs in snake

(B) Presence of webbed toes in

aquatic birds

(C) Melanization in peppered moth

(D) Lack of pigment in cave-dwelling 

animals

97. Which one of the following helps in

the digestion of cellulose by living

within the intestine of termite?

(A) Trypanosoma

(B) Trichonympha

(C) Giardia

(D) Trichomonas



98. ÒàÒül¡öàìt¡ ¤[Ò@ëA¡àÅãÚ š[¹šàìA¡¹ \>¸ l¡ü;ìÎW¡A¡
Û¡[¹t¡ ÒÚ

(A) &[šl¡à¹[³ìÎ¹ Nø[”‚³Ú ëA¡àÅ ë=ìA¡

(B) A¡[È¢A¡à ë=ìA¡

(C) K¸àÎìi¡öàl¡à¹[³ìÎ¹ Nø[”‚³Ú ëA¡àÅ ë=ìA¡

(D) [>³àìi¡à[ÎÐ¡ ë=ìA¡

99. šàÚ¹à &A¡[i¡

(A) "¸àì³àì>àìi¡[ºA¡ šøàoã

(B) Òül¡ü[¹*ìi¡[ºA¡ šøàoã

(C) Òül¡ü[¹ìA¡àìi¡[ºA¡ šøàoã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

100. ³àÅ¹ç¡³ Nø[”‚ Òº

(A) "à¹ìÅàºà¹ šå}\>>t¡ì”|¹ &A¡[i¡ "}Å

(B) "à¹ìÅàºà¹ Ñ|ã\>>t¡ì”|¹ &A¡[i¡ "}Å

(C) ¤¸àìR¡¹ šå}\>>t¡ì”|¹ &A¡[i¡ "}Å

(D) ¤¸àìR¡¹ Ñ|ã\>>t¡ì”|¹ &A¡[i¡ "}Å
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98. In Hydra, enzymes for extracellular

digestion are secreted from

(A) glandular cells of epidermis

(B) tentacles

(C) glandular cells of gastrodermis

(D) nematocyst

99. Pigeon is a/an

(A) ammonotelic animal

(B) ureotelic animal

(C) uricotelic animal

(D) None of the above

100. Mushroom gland is a part of

(A) male reproductive system of

cockroach

(B) female reproductive system of

cockroach

(C) male reproductive system of frog

(D) female reproductive system of

frog



GROUP—C / ®¡àK—C

PHYSIOLOGY / Åà¹ã¹[¤ƒ¸à

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

101. ¤øå>àì¹¹ Nø[”‚ ëA¡à=àÚ "¤Ñ‚à> A¡ì¹?

(A) [l¡*ìl¡>àì³¹ [³l¡üA¡àÎ Ñzì¹

(B) [l¡*ìl¡>àì³¹ Îà¤[³l¡üA¡àÎ Ñzì¹

(C) Òü[ºÚàì³¹ [³l¡üA¡àÎ Ñzì¹

(D) Òü[ºÚàì³¹ Îà¤[³l¡üA¡àÎ Ñzì¹

102. ëšàìl¡àÎàÒüi¡ ëA¡àÅP¡[º l¡üš[Ñ‚t¡ =àìA¡

(A) ë>óø¡ì>¹ ëÒ>ºã¹ ºåìš

(B) ¤à*³¸àì>¹ "à¤¹ìA¡¹ ¤[Ò@šøàW¡ãì¹

(C) ¤à*³¸àì>¹ "à¤¹ìA¡¹ "”z@šøàW¡ãì¹

(D) ëNÃàì³¹ç¡ºà¹ A¡¸à[šºà¹ã¹ šøàW¡ãì¹

103. šø=³ Òê¡;Åì¦¹ Îõ[Ê¡ ÒÚ ™J>

(A) [>ºìÚ¹ l¡àÚàìÐ¡àº Ç¡¹ç¡ ÒÚ

(B) "‹¢W¡–ƒøàAõ¡[t¡ A¡šà[i¡A¡àP¡[º ‰ç¡t¡ ¤Þê¡ ÒìÚ
™àÚ

(C) "à”z@[>ºÚ W¡àš ÒùàÎ šàÚ

(D) [‡šy * [yšy A¡šà[i¡A¡àP¡[º ‰ç¡t¡ ¤Þê¡ ÒìÚ 
™àÚ

104. šøÅ«àÎ [yû¡Úà¹ Î³Ú ³‹¸Záƒà

(A) šøÎà[¹t¡ ÒÚ

(B) ëA¡àì>à š[¹¤t¢¡> šøƒÅ¢> A¡ì¹ >à

(C) Î}Aå¡[W¡t¡ ÒÚ &¤} W¡¸àŸi¡à ÒìÚ ™àÚ

(D) [Å[=º ÒìÚ K´¬å\àAõ¡[t¡ ‹à¹o A¡ì¹
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Direction : Answer the following questions

by selecting the correct option.

101. Where is Brunner’s gland located?

(A) Mucosa of duodenum

(B) Submucosa of duodenum

(C) Mucosa of ileum

(D) Submucosa of ileum

102. Podocytes are the cells present in

(A) Henle’s loop of nephron

(B) outerwall of Bowman’s capsule

(C) innerwall of Bowman’s capsule

(D) wall of glomerular capillaries

103. First heart sound is produced when

(A) diastole of ventricles begins

(B) semilunar valves close quickly

(C) interventricular pressure

decreases

(D) bicuspid and tricuspid valves

close quickly

104. During inspiration, diaphragm

(A) expands

(B) shows no change

(C) contracts and flattens

(D) relaxes to become dome shaped



105. [l¡´¬àoå [>@Î¹o * A¡¹šàÎ ºå[i¡Úà³ Kk¡ì>¹ \>¸
ƒàÚã Ò¹ì³à>[i¡ Òº

(A) FSH

(B) LH

(C) LTH

(D) ICSH

106. ³à>åìÈ¹ ³[ÑzìÍH "¸à³àÒüºìÚl¡ b-ëšši¡àÒül¡ Î[e¡t¡ 
Ò*Úà¹ A¡à¹ìo

(A) "¸à[l¡Î> ¤[o¢t¡ ë¹àK ÒÚ

(B) Òà>[i¡Ui¡> ¤[o¢t¡ ë¹àK ÒÚ

(C) "¸àº\àÒü³à¹ ¤[o¢t¡ ë¹àK ÒÚ

(D) šà¹[A¡>Î> ¤[o¢t¡ ë¹àK ÒÚ

107. ³èyt¡¸àìK¹ Î³Ú

(A) ³èy>àºã [Å[=º ÒÚ

(B) K[¤>ã [Å[=º ÒÚ

(C) K[¤>ã Î}Aå¡[W¡t¡ ÒÚ

(D) ³èy>àºã Î}Aå¡[W¡t¡ ÒÚ

108. [Òì³àìNÃà[¤ì>¹ ëNÃà[¤> ëšøà[i¡> K[k¡t¡ ÒÚ

(A) &A¡[i¡ "àºó¡à ÅõTº * &A¡[i¡ [¤i¡à ÅõTº
‡à¹à

(B) ƒå[i¡ "àºó¡à ÅõTº * &A¡[i¡ [¤i¡à ÅõTº
‡à¹à

(C) &A¡[i¡ "àºó¡à ÅõTº * ƒå[i¡ [¤i¡à ÅõTº
‡à¹à

(D) ƒå[i¡ "àºó¡à ÅõTº * ƒå[i¡ [¤i¡à ÅõTº ‡à¹à

/4 29 [ P.T.O.

105. Hormone responsible for ovulation

and development of corpus luteum

is

(A) FSH

(B) LH

(C) LTH

(D) ICSH

106. The accumulation of amyloid

b-peptide in human brain causes

(A) Addison’s disease

(B) Huntington’s disease

(C) Alzheimer’s disease

(D) Parkinson’s disease

107. In micturition

(A) urethra relaxes

(B) ureter relaxes

(C) ureter contracts

(D) urethra contracts

108. Globin protein of haemoglobin

molecule is made up of

(A) one alpha chain and one beta

chain

(B) two alpha chains and one beta

chain

(C) one alpha chain and two beta

chains

(D) two alpha chains and two beta

chains



109. [>³—[º[Jt¡ ëA¡à>ô t¡=¸[i¡ Î[k¡A¡ >Ú?

(A) "[Gì\> ÒùàÎšøàœ¡ ¹ìv¡û¡ O2-&¹ "à}[ÅA¡
W¡àš 40 mm šà¹ƒÑzì´±¹ Î³à>

(B) "[Gì\> ÒùàÎšøàœ¡ ¹ìv¡û¡ CO2-&¹ "à}[ÅA¡ 
W¡àš 95 mm šà¹ƒÑzì´±¹ Î³à>

(C) "[Gì\>™åv¡û¡ ¹ìv¡û¡ O2-&¹ "à}[ÅA¡ W¡àš
95 mm šà¹ƒÑzì´±¹ Î³à>

(D) ¤àÚåÑ‚ºã¹ ¤àÚåìt¡ O2-&¹ "à}[ÅA¡ W¡àš
104 mm šà¹ƒÑzì´±¹ Î³à>

110. šø[t¡ [³[>ìi¡ ë™ š[¹³ào ¹v¡û¡ ¤õB¡ ‡à¹à š[¹Åøç¡t¡
ÒÚ t¡à Òº

(A) 1200 ml

(B) 1500 ml

(C) 3000 ml

(D) 4000 ml

111. [Îº[®¡ÚàìÎ¹ >àºã ™åv¡û¡ A¡ì¹

(A) ºQå³[ÑzìÍH¹ Îàì= ÎåÈå³—àÅãÈ¢A¡ìA¡

(B) ºQå³[ÑzìÍH¹ ƒå[i¡ "‹¢à}ÅìA¡

(C) tõ¡t¡ãÚ ë®¡[–i¡öìA¡ìº¹ Îàì= W¡tå¡=¢
ë®¡[–i¡öìA¡ºìA¡

(D) ƒå[i¡ šàÅ«¢ãÚ ë®¡[–i¡öìA¡ºìA¡

112. [>³—[º[Jt¡ ëA¡à>ô "”z@Û¡¹à Nø[”‚[i¡ í\¤ Q[Øl¡
[ÒÎàì¤ A¡à\ A¡ì¹?

(A) "¸à[l¡ö>àº Nø[”‚

(B) =àÒü¹ìÚl¡ Nø[”‚

(C) =àÒü³àÎ Nø[”‚

(D) [š[>Úàº ¤[l¡
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109. Which of the following statements is

not true?

(A) The partial pressure of O2 in

deoxygenated blood is 40 mm

of Hg

(B) The partial pressure of CO2 in

deoxygenated blood is 95 mm

of Hg

(C) The partial pressure of O2 in

oxygenated blood is 95 mm

of Hg

(D) The partial pressure of O2 in

alveolar air is 104 mm of Hg

110. The amount of blood filtered per

minute in the kidney is 

(A) 1200 ml

(B) 1500 ml

(C) 3000 ml

(D) 4000 ml

111. Aqueduct of sylvius connects

(A) cerebellum to medulla

oblongata

(B) the two halves of cerebellum

(C) third ventricle with fourth

ventricle

(D) lateral ventricles with each

other

112. Which of the following endocrine

glands functions as a biological

clock?

(A) Adrenal gland

(B) Thyroid gland

(C) Thymus gland

(D) Pineal body



113. ¤àÒüì¹¹ [ƒA¡ ë=ìA¡ [®¡t¡ì¹¹ [ƒìA¡ [l¡´¬àoå¹ šøàW¡ã¹ 
Ñz¹P¡[º Òº

(A) A¡ì¹à>à ë¹[l¡ìÚi¡à, ë\à>à ëšºå[Îl¡à,
®¡àÒüìi¡ºàÒü> šƒ¢à

(B) ë\à>à ëšºå[Îl¡à, A¡ì¹à>à ë¹[l¡ìÚi¡à,
®¡àÒüìi¡ºàÒü> šƒ¢à

(C) ®¡àÒüìi¡ºàÒü> šƒ¢à, ë\à>à ëšºå[Îl¡à, A¡ì¹à>à 
ë¹[l¡ìÚi¡à

(D) ë\à>à ëšºå[Îl¡à, ®¡àÒüìi¡ºàÒü> šƒ¢à, A¡ì¹à>à 
ë¹[l¡ìÚi¡à

114. &ìC¡à[šA¡ K®¢¡à¤Ñ‚àÚ [ÅÇ¡°ç¡o ë¤ìØl¡ *ìk¡

(A) \¹àÚåìt¡

(B) ëƒÒKÔì¹

(C) ë™à[>ìt¡

(D) ó¡¸àìºà[šÚà> >àºãìt¡

115. šøÎì¤¹ Î}ìA¡t¡ Îõ[Ê¡ ÒÚ

(A) Ç¡‹å³ày šÃ¸àìÎ–i¡à ë=ìA¡

(B) šÃ¸àìÎ–i¡à * Î´šèo¢¹ê¡ìš ¤õ[‡ý¡šøàœ¡ [ÅÇ¡°ç¡o
ë=ìA¡

(C) ³àt¡à¹ [šiå¡Òüi¡à¹ã ë=ìA¡ Û¡[¹t¡
"[Gìi¡à[Îì>¹ šø®¡àì¤

(D) Ç¡‹å³ày Î´šèo¢¹ê¡ìš ¤õ[‡ý¡šøàœ¡ [ÅÇ¡°ç¡o
ë=ìA¡

116. ë™ ë¹àK Î>àv¡û¡A¡¹ìo¹ \>¸ Widal š¹ãÛ¡à A¡¹à 
ÒÚ ëÎ[i¡ Òº

(A) HIV/AIDS

(B) ³¸àìº[¹Úà

(C) i¡àÒüó¡ìÚl¡ a¹

(D) l¡àÚàì¤[i¡Î ë³[ºi¡àÎ
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113. Wall layers of ovum from outside to

inside are

(A) corona radiata, zona pellucida,

vitelline membrane

(B) zona pellucida, corona radiata,

vitelline membrane

(C) vitelline membrane, zona

pellucida, corona radiata

(D) zona pellucida, vitelline

membrane, corona radiata

114. In ectopic pregnancy, foetus grows

in 

(A) uterus

(B) body cavity

(C) vagina

(D) fallopian tube

115. Signals for parturition originates

from

(A) placenta only

(B) placenta as well as fully

developed foetus

(C) oxytocin released from maternal 

pituitary

(D) fully developed foetus only

116. Widal test is carried out to diagnose 

(A) HIV/AIDS

(B) malaria

(C) typhoid fever

(D) diabetes mellitus



117. i¡ãA¡àA¡¹ìo¹ ó¡ìº ëA¡à>ô ‹¹ì>¹ ">àyû¡³¸t¡à KìØl¡ 
*ìk¡?

(A) šøàAõ¡[t¡A¡ Î[yû¡Ú ">àyû¡³¸t¡à

(B) Aõ¡[y³ Î[yû¡Ú ">àyû¡³¸t¡à

(C) šøàAõ¡[t¡A¡ [>[ÍI¡Ú ">àyû¡³¸t¡à

(D) Aõ¡[y³ [>[ÍI¡Ú ">àyû¡³¸t¡à

118. Nøà[ó¡Úà> ó¡[ºA¡ìº¹ KÔ¹ìA¡ ¤ìº

(A) ë®¡ì–i¡öà[Îº

(B) ¤ÃàìÐ¡à[Îº

(C) "¸à>i¡öà³

(D) "à¹ìA¡>ìi¡¹>

119. ³à>åìÈ¹ ³åJ¸ >àÒüìi¡öàì\>Q[i¡t¡ ë¹W¡> šƒà=¢
Î}ìÅÃ[Èt¡ ÒÚ

(A) ™Aõ¡ìt¡, [A¡”ñ šø‹à>t¡@ ëƒÒ ë=ìA¡ ë¤[¹ìÚ
™àÚ ¤õìB¡¹ ³à‹¸ì³

(B) ¤õìB¡, [A¡”ñ šø‹à>t¡@ ëƒÒ ë=ìA¡ ë¤[¹ìÚ ™àÚ 
™Aõ¡ìt¡¹ ³à‹¸ì³

(C) ¤õìB¡, &¤} ëƒÒ ë=ìA¡ ë¤[¹ìÚ* ™àÚ ¤õìB¡¹ 
³à‹¸ì³

(D) ™Aõ¡ìt¡, &¤} ëƒÒ ë=ìA¡ ë¤[¹ìÚ ™àÚ
™Aõ¡ìt¡¹ ‡à¹à [šv¡¹ìÎ¹ ³à‹¸ì³

120. ™J> A¡ºàìA¡àìÅ "[Gì\ì>¹ Î¹¤¹àÒ "šøtå¡º
ÒÚ, t¡J> ëÎÒü "¤Ñ‚àìA¡ ¤ìº

(A) "¸àì>à[GÚà

(B) šÃå[¹[Î

(C) ÒàÒüìšà[GÚà

(D) "¸àÎó¡àÒü[GÚà
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117. The type of immunity developed

through vaccination is

(A) natural active immunity

(B) artificial active immunity

(C) natural passive immunity

(D) artificial passive immunity

118. The cavity of Graafian follicle is

called

(A) ventrocoel

(B) blastocoel

(C) antrum

(D) archenteron

119. The principal nitrogenous excretory

compound in human is synthesized 

(A) in the liver, but eliminated from

the body mostly through

kidneys

(B) in kidneys, but eliminated from

the body mostly through liver

(C) in kidneys, as well as eliminated 

from the body by kidneys

(D) in liver and also eliminated from 

the body by the liver through

bile

120. When oxygen supply to the tissues

is inadequate, the condition is called

(A) anoxia

(B) pleurisy

(C) hypoxia

(D) asphyxia



121. ™[ƒ ëA¡àì>à ƒåQ¢i¡>à¹ A¡à¹ìo ³à>åìÈ¹ Òê¡;[šìr¡¹
[yšy A¡šà[i¡A¡à¹ Îàì= ™åv¡û¡ A¡[l¢¡ ëi¡>l¡[>
"à}[ÅA¡®¡àì¤ "A¡à™¢A¡à¹ã ÒÚ, t¡àÒìº t¡;Û¡oà;
&¹ šø®¡à¤ [A¡ Òì¤?

(A) ³Òà‹³>ãìt¡ ¹v¡û¡šø¤àÒ ‹ã¹K[t¡ìt¡ Òì¤

(B) ‘ëšÎì³A¡à¹’ A¡à\ A¡¹à ¤Þê¡ A¡ì¹ ëƒì¤

(C) ¹v¡û¡ ¤à³ "[ºì–ƒ¹ [ƒìA¡ [ó¡ì¹ "àÎìt¡
W¡àÒüì¤

(D) óå¡Îóå¡ÎãÚ ‹³>ãìt¡ ¹v¡û¡šø¤àÒ ÒùàÎ šàì¤

122. &–i¡àì¹àA¡àÒüì>\ Òº

(A) &A¡[i¡ HCl Û¡¹o šø[t¡ì¹à‹A¡à¹ã Ò¹ì³à>

(B) &A¡[i¡ &>\àÒü³ ™à [i¡öš[Îì>àì\>ìA¡
[i¡öš[Îì> š[¹ot¡ A¡ì¹

(C) &>\àÒüì³¹ &A¡[i¡ [>[ÍI¡Ú ¹ê¡š

(D) "”|ìA¡ l¡ü„ã[št¡ A¡ì¹ &³> &A¡[i¡ Ò¹ì³à>

123. [>³—[º[Jt¡ ëA¡à>[i¡ óå¡Îóå¡ìÎ¹ ë³ài¡ ¤àÚå‹à¹o
Û¡³t¡à (TLC) š[¹³àìš¹ \>¸ Î[k¡A¡ Î³ãA¡¹o?

(A) óå¡Îóå¡ìÎ¹ ë³ài¡ ¤àÚå‹à¹o Û¡³t¡à (TLC)
= ¤àÚå‹à¹A¡Œ (VC) + "¤ìÅÈ ¤àÚå
š[¹³ào (RV)

(B) óå¡Îóå¡ìÎ¹ ë³ài¡ ¤àÚå‹à¹o Û¡³t¡à (TLC) = 

šøÅ«àÎ [yû¡Úà¹ "[t¡[¹v¡û¡ ¤àÚå š[¹³ào
(IRV) + "¤ìÅÈ ¤àÚå š[¹³ào (RV)

(C) óå¡Îóå¡ìÎ¹ ë³ài¡ ¤àÚå‹à¹o Û¡³t¡à (TLC) = 

¤àÚå‹à¹A¡Œ (VC) + šøÅ«àÎ [yû¡Úà¹ "[t¡[¹v¡û¡ 
¤àÚå š[¹³ào (IRV)

(D) óå¡Îóå¡ìÎ¹ ë³ài¡ ¤àÚå‹à¹o Û¡³t¡à (TLC) = 

"¤ìÅÈ ¤àÚå š[¹³ào (RV) + [>Å«àÎ
[yû¡Úà¹ "[t¡[¹v¡û¡ ¤àÚå š[¹³ào (ERV)
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121. If due to some injury the chordae

tendineae of the tricuspid valve of

the human heart is partially non-

functional, what will be the

immediate effect?

(A) The flow of blood into the aorta

will be slowed down

(B) The ‘pacemaker’ stops working

(C) The blood will tend to flow back

into the left atrium

(D) The flow of blood into the

pulmonary artery will be

reduced

122. Enterokinase is

(A) a hormone inhibiting HCl

secretion

(B) an enzyme converting

trypsinogen to trypsin

(C) inactive form of an enzyme

(D) a hormone stimulating intestine

123. Which one of the following is the

correct equation for the calculation

of total lung capacity(TLC)?

(A) Total lung capacity (TLC) = vital

capacity(VC) + residual volume

                            (RV)

(B) Total lung capacity (TLC) = 

inspiratory reserve volume

(IRV) + residual volume (RV)

(C) Total lung capacity (TLC) = vital

capacity (VC) + inspiratory

reserve volume (IRV)

(D) Total lung capacity (TLC) =

residual volume (RV) +

expiratory reserve volume (ERV)



124. &A¡ ¤¸[v¡û¡ ƒãQ¢[ƒ> ‹ì¹ l¡üš¤àìÎ "àìá¡ú t¡à¹
³èìy šà*Úà ™àì¤

(A) ó¡¸ài¡

(B) "¸à³àÒüì>à "¸à[Îl¡

(C) NÃåìA¡à\

(D) [A¡ìi¡à> ¤[l¡

125. "¸à¹¤¹ [®¡[i¡ (Ar bor vi tae) Òº

(A) P¡¹ç¡³[ÑzìÍH¹ "}Å

(B) ºQå³[ÑzìÍH¹ "}Å

(C) ³‹¸³[ÑzìÍH¹ "}Å

(D) ÎåÈå³—àÅãÈ¢ìA¡¹ "}Å

126. &A¡ ¤¸[v¡û¡ t¡à¹ ƒõ[Ê¡Å[v¡û¡ [k¡A¡ A¡¹à¹ \>¸ "¤t¡º
ëºX™åv¡û¡ W¡Å³à šì¹ìá¡ú W¡Å³à ¤¸¤Òà¹ >à A¡¹à
"¤Ñ‚àÚ t¡à¹ ëÛ¡ìy ƒè¹¤t¢¡ã ¤Ññ¹ šø[t¡[¤´¬ K[k¡t¡
Òì¤ 

(A) "Þê¡ [¤–ƒå¹ l¡üš¹

(B) ë¹[i¡>à¹ [šáì>

(C) ë¹[i¡>à¹ Îà³ì>¹ [ƒìA¡

(D) šãt¡ [¤–ƒå¹ l¡üš¹

127. &A¡[i¡ [ÅÇ¡¹ =àÒü³àÎ Nø[”‚ Û¡[t¡NøÑ‚ Òìº

(A) ¹ìv¡û¡ [Òì³àìNÃà[¤ì>¹ š[¹³ào A¡ì³ ™àì¤

(B) ëÐ¡³ ëA¡àìÅ¹ l¡ü;šàƒ> ÒùàÎ šàì¤

(C) "¸à[–i¡¤[l¡-³à‹¸³ ">àyû¡³¸t¡à Û¡[t¡NøÑ‚ Òì¤

(D) ëA¡àÅ-³à‹¸³ ">àyû¡³¸t¡à Û¡[t¡NøÑ‚ Òì¤
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124. A person is undergoing prolonged

fasting. His urine will be found to

contain

(A) fats

(B) amino acids

(C) glucose

(D) ketone bodies

125. Arbor vitae is a part of

(A) cerebrum

(B) cerebellum

(C) midbrain

(D) medulla oblongata

126. A person is wearing spectacles with

concave lens for correcting vision.

While not using the glasses, the

image of distant object will be

formed

(A) on the blind spot

(B) behind the retina

(C) in front of the retina

(D) on the yellow spot

127. Damage to thymus gland in a child

may lead to

(A) a reduction in haemoglobin

content of blood

(B) a reduction in stem cell

production

(C) loss of antibody-mediated

immunity

(D) loss of cell-mediated immunity



128. 25[i¡ šøà=[³A¡ š¹Ç¡yû¡àoå &¤} 25[i¡ šøà=[³A¡
š¹[l¡´¬àoå ë=ìA¡ ™=àyû¡ì³ A¡t¡P¡[º Ç¡yû¡àoå *
[l¡´¬àoå ít¡[¹ Òì¤?

(A) 100[i¡ Ç¡yû¡àoå &¤} 25[i¡ [l¡´¬àoå

(B) 100[i¡ Ç¡yû¡àoå &¤} 30[i¡ [l¡´¬àoå

(C) 50[i¡ Ç¡yû¡àoå &¤} 25[i¡ [l¡´¬àoå

(D) 100[i¡ Ç¡yû¡àoå &¤} 100[i¡ [l¡´¬àoå

129. ë³ï¹à¹ l¡i¡Îô (Mau rer’s dots) ëƒJà ™àÚ ™J> 
³à>åìÈ¹ ëºà[Òt¡ ¹v¡û¡A¡[oA¡à "àyû¡à”z ÒÚ

(A) Plasmodium ovale ‡à¹à

(B) Plasmodium falciparum ‡à¹à

(C) Plasmodium malariae ‡à¹à

(D) Plasmodium vivax ‡à¹à

130. [>³—[º[Jt¡ ëA¡à>[i¡ Ò¹ì³à> Û¡¹oA¡à¹ã Òü>i¡öà-
Òül¡üìi¡¹àÒü> [l¡®¡àÒüÎ (IUD)?

(A) ³à[Âi¡ìºàl¡ 375

(B) Îà¹[®¡A¡¸àº A¡¸àš

(C) LNG–20

(D) ®¡Âi¡

131. ó¡Îà *®¡à[ºÎ >à³A¡ [l¡´¬àA¡à¹ "¤>t¡ Ñ‚à>[i¡
ëƒJà ™àÚ

(A) "à”z@"[º–ƒ šøàW¡ãì¹

(B) "à”z@[>ºÚ šøàW¡ãì¹

(C) š¸à[šºà¹ã ëš[Åìt¡

(D) [>ºìÚ¹ šøàW¡ãì¹
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128. How many sperms and ova will be

produced from 25 primary

spermatocytes and 25 primary

oocytes respectively? 

(A) 100 sperms and 25 ova

(B) 100 sperms and 30 ova

(C) 50 sperms and 25 ova

(D) 100 sperms and 100 ova

129. Maurer’s dots occur in human RBC

infected by

(A) Plasmodium ovale

(B) Plasmodium falciparum

(C) Plasmodium malariae

(D) Plasmodium vivax

130. Which one of the following is a

hormone-releasing intrauterine

device (IUD)?

(A) Multiload 375

(B) Cervical cap

(C) LNG-20

(D) Vault

131. An oval depression called fossa

ovalis, is seen on

(A) interatrial septum

(B) interventricular septum

(C) papillary muscle

(D) ventricular wall



132. "¸à[i¡öÚàº ë>[i¡öÒül¡üì¹[i¡A¡ ó¡¸àC¡¹ ít¡[¹ A¡ì¹

(A) ¤õB¡

(B) Òê¡;[šr¡

(C) [l¡*ìl¡>à³

(D) =àÒü¹ìÚl¡ Nø[”‚

133. ³[ÑzÍH ¹ìv¡û¡¹ l¡üš¹ [>®¢¡¹ A¡ì¹ [A¡ Î¹¤¹àÒ A¡¹à¹ 
\>¸?

(A) "[Gì\> &¤} NÃåìA¡à\

(B) "[Gì\> &¤} t¡[Øl¡;[¤ìÅÃÈ¸ šƒà=¢

(C) "[Gì\> &¤} ATP

(D) ATP &¤} NÃåìA¡à\

134. "¸àºìl¡àìÐ¡¹> Û¡[¹t¡ ÒÚ

(A) "¸à[l¡ö>àº A¡ìi¢¡ìG¹ ë\à>à ó¡¸à[ÎAå¡ìºi¡à
ë=ìA¡

(B) "¸à[l¡ö>àº A¡ìi¢¡ìG¹ ë\à>à ëNÃàì³¹ç¡ìºàÎà
ë=ìA¡

(C) "¸[l¡ö>àº A¡ìi¢¡ìG¹ ë\à>à ë¹[i¡Aå¡ºà[¹Î
ë=ìA¡

(D) [l¡´¬àoå¹ ë\à>à ëšºå[Îl¡à Ñz¹ ë=ìA¡

135. ¹v¡û¡ìA¡àìÅ¹ šøàÚ 99% ë™ A¡àì\ "}ÅNøÒo A¡ì¹ 
t¡à Òº

(A) ">àyû¡³¸t¡à

(B) \ã¤àoå ®¡Û¡o

(C) "[Gì\> š[¹¤Ò>

(D) ¹v¡û¡šø¤àìÒ ">åšøì¤Å A¡¹à &¤} ¹v¡û¡šø¤àÒ
ë=ìA¡ ë¤[¹ìÚ ™à*Úà  
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132. Atrial natriuretic factor is produced

by

(A) kidney

(B) heart

(C) duodenum

(D) thyroid gland

133. Brain depends on blood for the

supply of

(A) oxygen and glucose

(B) oxygen and electrolytes

(C) oxygen and ATP

(D) ATP and glucose

134. Aldosterone is secreted from the

(A) zona fasciculata of the adrenal

cortex

(B) zona glomerulosa of the adrenal

cortex

(C) zona reticularis of the adrenal

cortex

(D) zona pellucida of ovum

135. About 99% of blood cells are

involved in

(A) immunity

(B) eating invadors

(C) transporting oxygen

(D) entering and leaving the blood

stream



136. ëšøà[i¡> š[¹šàìA¡¹ Î[k¡A¡ yû¡³š™¢àÚ Òº

(A) ëšøà[i¡> ® ëššìi¡à> ® "¸à³àÒüì>à
"¸à[Îl¡ ® ë³i¡àìšøà[i¡> * ëšši¡àÒül¡ 

(B) ëšøà[i¡> ® ëšøà[i¡*\ * ëššìi¡à> ®
ëšši¡àÒül¡ ® "¸à³àÒüì>à "¸à[Îl¡

(C) ëšøà[i¡> ®  ëšøà[i¡*\ * ëššìi¡à> ®
ëšši¡àÒül¡  ® ë³i¡àìšøà[i¡>

(D) ëšøà[i¡> ® "¸à[Îl¡ ë³i¡àìšøà[i¡> ®
ëšøà[i¡*\ ® "¸à³àÒüì>à "¸à[Îl¡ ®
ëšši¡àÒül¡

137. [>³—[º[Jt¡ ëA¡à>[i¡ Î[k¡A¡®¡àì¤ [³ìº ™àÚ?

(A) [®¡i¡à[³> A — A¡¸àº[Îìó¡¹º

(B) [®¡i¡à[³> E — ëi¡àìA¡àìó¡¹º

(C) [®¡i¡à[³> D — [=Úà[³>

(D) [®¡i¡à[³> K — "¸àÎA¡¹[¤A¡ "¸à[Îl¡

138. ¹ìv¡û¡¹ A¡ºÚ[l¡Ú "[®¡Ñ÷¤o W¡àš šø‹à>t¡@ K[k¡t¡
ÒÚ ™à¹ \>¸ ëÎ[i¡ Òº

(A) ëNÃà[¤l¡ü[º>

(B) ó¡àÒü[¤øì>àì\>

(C) ëšøà=ø[´¬>

(D) "¸àº¤å[³>
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136. The exact sequence of events during

digestion of protein is

(A) proteins ® peptones ® amino

acids ® metaproteins and

peptides 

(B) proteins ® proteoses and

peptones ® peptides ® amino

acids

(C) proteins ® proteoses and

peptones ® peptides ®

metaproteins

(D) proteins ® acid metaproteins ®

proteoses ® amino acids ®

peptides

137. Which of the following is the correct

match?

(A) Vitamin A — Calciferol

(B) Vitamin E — Tocopherol

(C) Vitamin D — Thiamine

(D) Vitamin K — Ascorbic acid

138. The colloidal osmotic pressure of

blood is mainly due to

(A) globulin

(B) fibrinogen

(C) prothrombin

(D) albumin



139. ¹v¡û¡ t¡e¡ì>¹ Î³Ú [®¡i¡à[³> K ÎàÒà™¸ A¡ì¹

(A) ëšøà=ø[´¬ì>¹ =ø[´¬ì> ¹ê¡šà”zì¹

(B) ëšøà=ø[´¬> ít¡[¹ìt¡

(C) ó¡àÒü[¤øì>àì\ì>¹ ó¡àÒü[¤øì> ¹ê¡šà”zì¹

(D) =øì´¬àšÃà[Ð¡> ít¡[¹ìt¡

140. [³[G[l¡³à ëƒJà ™àÚ

(A) =àÒü¹[Gì>¹ A¡³ l¡ü;šàƒì>¹ \>¸

(B) =àÒü¹[Gì>¹ "[‹A¡ l¡ü;šàƒì>¹ \>¸

(C) ëNøà= Ò¹ì³àì>¹ "à[‹ìA¡¸¹ \>¸

(D) Òü>Îå[ºì>¹ A¡³ Û¡¹ìo¹ \>¸

141. ëšï[Ê¡A¡>àºã¹ šøàW¡ãì¹¹ Ñz¹P¡[º¹ ¤àÒüì¹¹ [ƒA¡
ë=ìA¡ [®¡t¡ì¹¹ [ƒìA¡ šøAõ¡t¡ Îðàyû¡³ Òº

(A) ëÎì¹àÎà, ƒãQ¢àA¡à¹ ëš[Å, [³l¡üìA¡àÎà,
Îà¤[³l¡üìA¡àÎà

(B) [³l¡üìA¡àÎà, ëÎì¹àÎà, ƒãQ¢àA¡à¹ ëš[Å

(C) ëÎì¹àÎà, ƒãQ¢àA¡à¹ ëš[Å, W¡yû¡àA¡à¹ ëš[Å,
Îà¤[³l¡üìA¡àÎà, [³l¡üìA¡àÎà

(D) ëÎì¹àÎà, W¡yû¡àA¡à¹ ëš[Å, ƒãQ¢àA¡à¹ ëš[Å,
Îà¤[³l¡üìA¡àÎà, [³l¡üìA¡àÎà
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139. During coagulation of blood,

vitamin K helps in the

(A) conversion of prothrombin to

thrombin

(B) formation of prothrombin

(C) conversion of fibrinogen to fibrin

(D) formation of thromboplastin

140. Myxedema is due to

(A) decreased production of

thyroxine

(B) increased production of

thyroxine 

(C) excess GH 

(D) decreased secretion of insulin

141. In the wall of alimentary canal, what 

is the actual sequence from outer

side to inner side? 

(A) Serosa, longitudinal muscle,

mucosa, submucosa

(B) Mucosa, serosa, longitudinal

muscle

(C) Serosa, longitudinal muscle,

circular muscle, submucosa,

mucosa

(D) Serosa, circular muscle,

longitudinal muscle, sub-

mucosa, mucosa



142. ³à>åìÈ¹ ëÛ¡ìy íƒ[>A¡ [A¡ š[¹³à> Òül¡ü[¹Úà ë¹[W¡t¡ 
ÒÚ?

(A) 10–20 mg

(B) 30–40 mg

(C) 25–30 gm

(D) 60–80 gm

143. ECG-&¹ T t¡¹U [>ìƒ¢Å A¡ì¹

(A) "¸à[i¡öÚàº [l¡ìšàºà¹àÒüì\Åà>

(B) ë®¡[–i¡öAå¡ºà¹ [¹ìšàºà¹àÒüì\Åà>

(C) ë®¡[–i¡öAå¡ºà¹ [l¡ìšàºà¹àÒüì\Åà>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

144. ³à>¤ ³[ÑzìÍH¹ ëA¡à>ô "}Å ëƒìÒ¹ t¡àš³àyà
[>Ú”|ìo¹ \>¸ ƒàÚã?

(A) ÒàÒüìšà=¸àºà³àÎ

(B) ÎåÈå³—àÅãÈ¢A¡

(C) ºQå³[ÑzÍH

(D) P¡¹ç¡³[ÑzÍH
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142. How much urea is excreted per day

in human being?

(A) 10–20 mg

(B) 30–40 mg

(C) 25–30 gm

(D) 60–80 gm

143. In ECG, T wave represents

(A) atrial depolarisation

(B) ventricular repolarisation

(C) ventricular depolarisation

(D) None of the above

144. Which part of the human brain is

concerned with the regulation of

body temperature?

(A) Hypothalamus

(B) Medulla oblongata

(C) Cerebellum

(D) Cerebrum



145. [>³—[º[Jt¡ ëA¡à>[i¡ A¡¸àº[¹ì\[>A¡ Ò¹ì³à>?

(A) FSH

(B) Òü>Îå[º>

(C) =àÒü¹[G>

(D) l¡üšì¹¹ Î¤ A¡Ú[i¡

146. ™Üà ë¹àìK¹ Òàt¡ ë=ìA¡ ¹Û¡à šà*Úà¹ \>¸ ë™
®¡¸à[G> ëƒ*Úà ÒÚ ëÎ[i¡ Òº

(A) BCG

(B) DPT

(C) TT

(D) BGC

147. [yû¡ši¡¹[A¡[l¡\³ Òº &A¡[i¡ "¤Ñ‚à ë™Jàì>

(A) šå¹ç¡È Ò¹ì³à>P¡[º [yû¡ÚàÅãº >Ú

(B) [l¡´¬àÅÚP¡[º "šÎà[¹t¡ ÒìÚìá

(C) Ç¡yû¡àÅÚ ëÑI¡ài¡à³ =[ºìt¡ ë>ì³ "àìÎ >à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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145. Which one of the following is

calorigenic hormone?

(A) FSH

(B) Insulin

(C) Thyroxine

(D) All of the above

146. A vaccine meant for protection

against tuberculosis is

(A) BCG

(B) DPT

(C) TT

(D) BGC

147. Cryptorchidism is a condition in

which

(A) male hormones are not reactive

(B) ovaries are removed

(C) testis does not descend into

scrotal sac

(D) None of the above



148. [>³—[º[Jt¡ ëA¡à>ô ÅA¢¡¹à[i¡ Ûå¡‰à”z ë=ìA¡ ÎÒàÚA¡
¤¸àš> šø[yû¡ÚàÚ ëÅà[Èt¡ ÒÚ?

(A) óøå¡A¡ìi¡à\

(B) NÃåìA¡à\

(C) Îåìyû¡à\

(D) º¸àA¡ìi¡à\

149. &³ó¡àÒüìÎ³à Òº &³> &A¡[i¡ "¤Ñ‚à ™à ëƒJà ëƒÚ

(A) ‹è³šàì>¹ A¡à¹ìo

(B) ³ƒ¸šàì>¹ A¡à¹ìo

(C) ó¡àÐ¡ óå¡l¡¡ Jà*Úà¹ A¡à¹ìo

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

150. [NÃÎì>¹ A¡¸àšÎåº [>³—[º[Jt¡ ëA¡à>[i¡¹ ÎìU
Î´šA¢¡™åv¡û¡?

(A) ™Aõ¡;

(B) "N—¸àÅÚ

(C) óå¡Îóå¡Î

(D) ¤õB¡
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148. Which of the following sugars is

absorbed from the small intestine by 

facilitated diffusion? 

(A) Fructose

(B) Glucose

(C) Sucrose

(D) Lactose

149. Emphysema is a condition resulting

from

(A) cigarette smoking

(B) alcohol consumption

(C) fast food eating

(D) None of the above

150. Glisson’s capsule is associated with

(A) liver

(B) pancreas

(C) lung

(D) kidney
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READ THE FOL LOW ING IN STRUC TIONS CARE FULLY :  

[>³—[º[Jt¡ [>ìƒ¢Åà¤ºã ®¡àìºà A¡ì¹ šØl¡æ> :
1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened

completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

šø[t¡[i¡ šøìÅ—¹ l¡üv¡¹ [ÒÎàì¤ ë™ W¡à¹[i¡ [¤A¡¿ ëƒ*Úà "àìá t¡à ë=ìA¡ Ç¡‹å³ày Ç¡‡ý¡ l¡üv¡¹[i¡¹ ëšø[Û¡ìt¡ OMR l¡üv¡¹šìy ëƒ*Úà ¤õv¡[i¡ A¡àìºà ¤ºšìÚ–i¡
A¡º³ ‡à¹à Î´šèo¢¹ê¡ìš A¡àìºà A¡ì¹ [W¡[Òû¡t¡ A¡¹ìt¡ Òì¤¡ú &A¡¤à¹ l¡üv¡¹ [W¡[Òû¡t¡ A¡¹à ÒìÚ ëKìº t¡àìA¡ "à¹ š[¹¤t¢¡> A¡¹à ™àì¤ >à¡ú

2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

š¹ãÛ¡à=¢ã¹à ëA¡àì>à®¡àì¤Òü OMR l¡üv¡¹šy[i¡ ®ò¡à\ A¡¹ì¤> >à¡ú OMR l¡üv¡¹šìy ëA¡àì>à¹A¡³ ƒàK A¡ài¡à ¤à ³”z¤¸ ëºJà ™àì¤ >à¡ú š¹ãÛ¡à=¢ã¹à tò¡àìƒ¹
ë¹àº >à´¬à¹ l¡üv¡¹šìy [>[ƒ¢Ê¡ A¡¹à \àÚKà áàØl¡à ">¸ ëA¡àì>à \àÚKàÚ [ºJì¤> >à¡ú

3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR l¡üv¡¹šy &¤} šøÅ—šìy¹ ¤¸¤Òàì¹ Îà[¤¢A¡ Ît¡A¢¡t¡à "¤º ¬́> A¡¹ìt¡ Òì¤¡ú ëA¡àì>à "¤Ñ‚àìt¡Òü (³å‰o yç¡[i¡ * š‡ý¡[t¡Kt¡ yç¡[i¡ áàØl¡à) OMR l¡üv¡¹šy
* šøÅ—šy šàìÂi¡ ëƒ*Úà ™àì¤ >à¡ú

4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

š¹ãÛ¡à=¢ãìA¡ "¸àìi¡ì“¡X Åãi¡-& tò¡à¹  OMR l¡üv¡¹šìy¹ >à´¬à¹ &¤} šøÅ—šìy¹ >à´¬à¹ [>®å¢¡º®¡àì¤ [ºJìt¡ Òì¤¡ú
5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile

phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

š¹ãÛ¡à=¢ãìA¡ "¸àl¡[³i¡ A¡àl¢¡ &¤} ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ áàØl¡à ">¸ ëA¡àì>à áàšàì>à ¤à ëºJà A¡àK\, šk¡> * ³å‰o\àt¡ Îà³Nøã, ëš\à¹, ë³à¤àÒüº ëó¡à>,
">¸ ëA¡àì>à¹A¡³ ÒüìºC¡ö[>A¡ [l¡®¡àÒüÎ [>ìÚ š¹ãÛ¡à Òìº/A¡ìÛ¡ šøì¤Å A¡¹ìt¡ ëƒ*Úà Òì¤ >à¡ú

6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

š¹ãÛ¡à Òìº Òü>[®¡[\ìºi¡¹ A¡tõ¢¡A¡ [A¡}¤à š¹ãÛ¡à ëA¡ì–ƒø¹ [®¡t¡ì¹ š¹ãÛ¡à-Î}[ÅÃÊ¡ "à[‹A¡à[¹A¡ A¡tõ¢¡A¡ ƒà[¤ A¡¹à Òìº šøìt¡¸A¡ š¹ãÛ¡à=¢ã tò¡à¹ "¸àl¡[³i¡ A¡àl¢¡ *
ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ ëƒJàìt¡ ¤à‹¸ =àA¡ì¤>¡ú

7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her 
seat.

ëÎ–i¡à¹ Îåšà[¹>ìi¡>ìl¡–i¡ ¤à Òü>[®¡[\ìºi¡¹-&¹ [¤ìÅÈ ">å³[t¡ áàØl¡à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òìº tò¡à¹ ¤Îà¹ Ñ‚à> š[¹¤t¢¡> A¡¹ìt¡ šà¹ì¤> >à¡ú
8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after

taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

š¹ãÛ¡à=¢ã[ƒKìA¡ Òü>[®¡[\ìºi¡ì¹¹ ëƒ*Úà "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹ìt¡ Òì¤, šø=³¤à¹ š¹ãÛ¡à Òìº tò¡àìƒ¹ "àÎ> NøÒìo¹ š¹ &¤} [‡t¡ãÚ¤à¹

Òü>[®¡[\ìºi¡ì¹¹ [>A¡i¡ OMR l¡üv¡¹šy \³à ëƒ*Úà¹ Î³ìÚ¡ú
9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet

to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

"¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹à &¤} A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡¹-&¹ [>A¡i¡ l¡üv¡¹šy \³à ëƒ*Úà ¤¸t¡ãt¡ ëA¡àì>à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òº t¡¸àK A¡¹ìt¡

šà¹ì¤> >à¡ú ™[ƒ ëA¡àì>à š¹ãÛ¡à=¢ã "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ >à A¡ì¹> t¡ì¤ [t¡[> tò¡à¹ OMR l¡üv¡¹šy \³à A¡ì¹>[> ¤ìº Ko¸ Òì¤ &¤} t¡à
">å[W¡t¡ A¡à™¢ [ÒÎàì¤ ‹¹à Òì¤¡ú

10. Use of any type of calculating device is prohibited.

ë™ ëA¡àì>à ‹¹ì>¹ A¡¸àºAå¡ìºi¡ì¹¹ ¤¸¤Òà¹ Î´šèo¢¹ê¡ìš [>[È‡ý¡¡ú
11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the

Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à
">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR  l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú
13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the

Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹  OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹ Îàì=
[>ìÚ ë™ìt¡ šàì¹>¡ú
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